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Question No. 1
A hollow shaft of the same cross-section area as solid shaft transmits-
A) Same torque B) Less torque

C) More torque D) Unpredictable

3T AFE & FATT HIH-QRIA &TPel el WEeT AFE, JHIRT I

A) AT I B) &H <is
C) 318 <l D) 3qaieay
Answer Key : C Your Response : C (Correct)

Question No. 2

The mating surface between the pitch circle and the root circle is known as-
A) Tooth face B) Tooth flank

C) Clearence D) Face width

T FFe 3R F¢ FFd & o Hr AT Fag FF [T & T F &7 Far &

A) TI »H B) TU Welsh
C) FaR=d D) %& fag¥
Answer Key : B Your Response : A (Wrong)

Question No. 3
For 20° pressure angle, the minimum number of teeth on a gear will be-
A) 15 B) 16

C) 17 D) 18
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20 ° WR FI0T F fAT, PR W gidt fr ~geada d&7r e gef-

A) 15 B) 16
C) 17 D) 18
Answer Key : D Your Response : D (Correct)

Question No. 4
Lead is widely used in-
A) Switch gears B) Transformers

C) Galvanised pipes D) Storage batteries

A5 (W) FT 39T # s w9 & fBRar S gl

A) g R B) TEWIAR
C) Ieaarsss usa D) ¥Rl dedr
Answer Key : D Your Response : D (Correct)

Question No. 5

In a compound cylinder, hoop stress throughout the metal is-
A) Uniform B) Variable

C) Zero D) Maximum

Frss RSt #, G UG # g7 U T der &2

A) THHTT B) uRadsia
C) =T D) 3if¥ea#H
Answer Key : A Your Response : B (Wrong)

Question No. 6
The gear train usually employed in clocks is a-
A) Simple gear train B) Reverted gear train

C) Sun and planet gear D) Differential gear
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aRd A e PRR ST IR @ Bl
A) W T ¢ B) Raés R ¢
C) T 3R e AR D) fwifrae feR
Answer Key : B Your Response : B (Correct)

Question No. 7

Kinematic viscosity is equal to-

A) Dynamic viscosity/density B) Dynamic viscosity x density

C) Density/dynamic viscosity D) 1/(dynamic viscosity x density)

&I AT e SO Bt §7

A) AT I / gelca B) JIfdst eIl X Hslca

C) "dca / IfAST eATAAT D) 1/ (3IfAST eTAAT x Gelca)
Answer Key : A Your Response : A (Correct)

Question No. 8
In a domestic refrigerator, the tubes at the back of the refrigerator are the-
A) Evaporator B) Condenser

C) Capillary tubes D) Compressor

e IR #, W § 9IS Fua @ g &

A) 3carsus (Evaporator) B) Tufax (Condenser)
C) &R €& (Capillary tubes) D) @&diE® (Compressor)
Answer Key : B Your Response : B (Correct)

Question No. 9
A process applying oxide coating on aluminium is known as-
A) Oxidizing B) Galvanizing

C) Puckering D) Anodizing
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T W eSS FIfT F fr uftkar = FEarr 82

A) 3IfFEEERSET B) dreaarsiaieT
C) gahiar D) TarsEfeET
Answer Key : D Your Response : B (Wrong)

Question No. 10

Which of the following is a heat treatment process?
A) Normalising B) Spherodising

C) Cyaniding D) All of the options

ffaf@d & & =l O @i 3TEr gfhar 82

A) sAtFemsiSeT B) TR
C) Trg=sfsar D) fawedl & & sl
Answer Key : D Your Response : D (Correct)

Question No. 11

If the number of constraints are four, then degree of freedom will be-
A) 0 B) 1

C) 2 D) 3

Ifg FlraceH i &A1 IR § df EWidead FIfe fraetr gref?

A O B) 1
C) 2 D) 3
Answer Key : C Your Response : B (Wrong)

Question No. 12

The performance of grinding wheel depends upon the-
A) Type of abrasive grains B) Size of abrasive grains

C) Type of bonding material D) All of the options
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3qads 9f@w (grinding wheel) T ygdfer _ 9X R aar g1
A) 39E¥® gT (abrasive grains) & YR B) 39uve Gl (abrasive grains) & 3R
C) sud FHM & JHR D) fawedl # & @l

Answer Key : D Your Response : D (Correct)

Question No. 13

Electronic components are often joined by-

A) Adhesive B) Soldering
C) Brazing D) Spot welding
RRT FEiRE T ¥ S I
A) Tgefa B) dresfar
C) sfSter D) i afesar
Answer Key : B Your Response : B (Correct)

Question No. 14

The main function of the cutting fluid is to-

A) Provide lubrication B) Cool the tool and workpiece

C) Wash away the chips D) Improve surface finish

Tl 5d T HET T T §7

A) TEA el FeT B) <ol 3R g&dH & 3T el

C) Rrew 1 e D) @hw fefaer 3 GuR AT
Answer Key : B Your Response : B (Correct)

Question No. 15

The mallet is made up of-
A) Lead B) Brass

C) Hard wood D) Castiron
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Fe BREd T g &7

A) <= (dr) B) smH (dice)

C) 3F w&ar D) &oldl ollgl (PR 3HRRA)
Answer Key : C Your Response : D (Wrong)

Question No. 16

Which of the following is a multi-point cutting tool?
A) Flycutter B) Shaper

C) Planer D) Reamer

g ¥ FiT W qg-fig Fcder SR (multi point cutting tool) &2

A) TelSHe B) W
C) e (Planer) D) I
Answer Key : D Your Response : D (Correct)

Question No. 17

The set of forces, whose resultant is zero, are known as-

A) Equilibrium forces B) Collinear forces

C) Coplanar forces D) Concurrent forces

gt & & wog F, e o e e, e e §

A) JFIEGEAT Fel(Equilibrium forces) B) @HA@(Collinear) et

C) TAdeg(Coplanar) sof D) ¥#adi(Concurrent) et
Answer Key : A Your Response : A (Correct)

Question No. 18

Which of the following is NOT a point function?
A) Work B) Pressure

C) Temperature D) Volume
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faeafaf@a F & =l a1 &g weet (point function) &t 82

A) FF B) a
C) amT D) 3madeT
Answer Key : A Your Response : A (Correct)

Question No. 19

The failure of a material under varying load, after a number of cycles of such load, is known as-
A) Ductile failure B) Brittle failure

C) Impact failure D) Fatigue failure

IRETNT s &F Hwid, W A3 F F2 T F a1g qHA Fr FAvear Fgellc gl

A) dFT A%erdar B) $9RX fatherdr
C) 3mmard fawerar D) W& (sifd) Awerdr
Answer Key : D Your Response : D (Correct)

Question No. 20

Which type of gear will be used for non-intersecting perpendicular shafts?
A) Helical gears B) Spur gears

C) Hypoid gears D) Herringbone gears

a3 daaa awet & AT fFE TR F R F1 39T Far seean?

A) gfoea R B) T IR
C) gmeuiss iR D) gReee et
Answer Key : C Your Response : C (Correct)

Question No. 21

The number of cycles of motion completed in a unit interval of time is known as-
A) Period B) Frequency

C) Resonance D) Damping
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TF S FAGIAUS F qUT FRT T a1far & st dr WA F FAT FET S 82

A) 3Tad B) 3mgfea
C) 3ieee D) 3/aHeA
Answer Key : B Your Response : A (Wrong)

Question No. 22

GET IT ON
Google Play

If the two links have a turning as well as sliding motion between them, then the kinematic pair is

known as-
A) Rolling pair B) Spherical pair
C) Screw pair D) Closed pair

IR & T F e A 3R 3% dw T af ¥, @ yeefaw g
|

A) Aferr oo B) T oA
C) & A D) &c (Follss) Ton
Answer Key : C Your Response : D (Wrong)

Question No. 23

The internal energy of an ideal gas is-

A) A function of temperature B) A function of pressure
C) A function of volume D) All of the options
& e A dr iaks e g &1
A) dTIHATA ST Heled B) & Welel
C) I Heled D) a3 fasea
Answer Key : A Your Response : A (Correct)

Question No. 24

The maximum temperature in the I.C. engine cylinder is of the order of-

A) 500 -1000°C B) 1000 - 1500°C
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C) 1500 - 2000°C D) 2000 - 2500°C

IC F5ieT RAeiEt & HWRaHA AIAT T HA -

A) 500 - 1000°C B) 1000 - 1500°C
C) 1500 - 2000°C D) 2000 - 2500°C
Answer Key : D Your Response : D (Correct)

Question No. 25

The maximum solubility of carbon in ferrite is-

A) 0.025 % B) 0.1 %
C) 0.5% D) 0.0017 %
WIEE & FEA i HOFaA Roar eI &1
A) 0.025 % B) 0.1 %
C) 05 % D) 0.0017 %
Answer Key : A Your Response : A (Correct)

Question No. 26

Hot tear refers to-
A) Casting defect B) Process of fabrication of sheet metal
C) Process of heat treatment D) Weathering of nonferrous metals
glc W & 3% gl
A) FIfET ay B) ¢fic Aca $r highea F1 ysha
C) F°HT 3YAR & Yshel D) 3rcllg emq3it 1 39ery

Answer Key : A Your Response : A (Correct)

Question No. 27

The variation in the volume of a liquid with the variation of pressure is called its-

A) Surface tension B) Compressibility
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C) Capillarity D) Viscosity

T #F 9Radd & TIVET g9 F IAGT H gy arel IRadsT FI FAT gl SATar 82

A) Us& deia (Surface tension) B) &disaar (Compressibility)
C) *fca (Capillarity) D) <IreAdr (Viscosity)
Answer Key : B Your Response : B (Correct)

Question No. 28

What will be the weight of the body whose mass is 1 kg?
A) 1N B) 1kN

C) 981N D) 9.81 kN

Rs(body) T TsieT T 8RN S/ T gegdAT 1 fhalame g2

A) 1N B) 1 kN
C) 981 N D) 9.81 kN
Answer Key : C Your Response : C (Correct)

Question No. 29

Reducing flame is also known as-
A) Carburising flame B) Neutral flame

C) Oxidising flame D) Hydrogen flame

IIAIIF FAH S8 3R Far 3 Fgr FAar 82

A) FISTHT Fo B) #ggol FelH
C) 3iterEIssiaihT Fole D) s FoiH
Answer Key : A Your Response : A (Correct)

Question No. 30

Skeleton patterns are generally used for-

A) Small castings B) Non-ferrous castings
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C) Large castings D) Hollow castings

olesT Yeot U F o 3w e s §

A) BIE HIIECT B) 3ailg (ATA-UE) FIfEeaT
C) S sIfeea D) @@l (greln) HifEcar
Answer Key : C Your Response : A (Wrong)

Question No. 31

Shear stress in static fluid is-

A) Always zero B) Always maximum
C) Between zero to maximum D) Always minimum
T ga F oo yfdee (AR ®w) . @ar
A) EHAT LT B) gHe 3if¥eas
C) Iy & A & T D) g8 #geiaH
Answer Key : A Your Response : A (Correct)

Question No. 32

The Darcy friction factor for laminar flows is a consequence of-
A) Bernoulli's law B) Poiseuille’s law

C) Euler's law D) Newton's law

AT & vare & faw st a¥or wR* Fasr aRom #-

A) safelr &1 @gH B) digsisel &1 foras
C) IR & s D) =gt & foas
Answer Key : B Your Response : A (Wrong)

Question No. 33

One horse power in metric system is equal to-

A) 75 kg-metre/second B) 75 kg-m/hour
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C) 4500 kg-m/second D) 4500 kg-m/hour

HAfeF gomelr F e 3T AFT FEF T AT 272

A) 75 TRar-#Aiey/ a5 B) 75 feram-#iey/ ger
C) 4500 fFam-#Hey/ a3 D) 4500 foram-#ex/ ger
Answer Key : A Your Response : A (Correct)

Question No. 34

The coefficient of skin friction for laminar flow in a pipe is given as-
(where Re = Reynolds number)

A) Re/32 B) 32/Re
C) Re/16 D) 16/Re
TS 9IST # enfAe(laminar) F var® & v RFa BhRe F qonies & § 7 faar
gl
(STeT Re = Reynolds number)
A) Re/32 B) 32/Re
C) Re/16 D) 16/Re
Answer Key : D Your Response : C (Wrong)

Question No. 35

The method of joining metals by means of fillers whose melting point is below 425° C is known

as-
A) Non-ferrous welding B) Galvanizing
C) Adhesive bonding D) Soldering

425° C ¥ & Ielelich arl hord g@RT arep3it 1 Sigar Hr fafyr Fgelrcll ¢l

A) 37cllg afeser B) dreaarsiaieT
C) vstfaa sifsa D) @esRar
Answer Key : D Your Response : D (Correct)
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Question No. 36

Pyrometer is a device which is related to-

A) Density measurements B) Pressure measurements
C) Temperature measurements D) Volume measurements
g ¥ efaT 3uoT §1
A) "dcd HYA B) &I& AU
C) a9 &A™ D) 3MIceT AT

Answer Key : C Your Response : C (Correct)

Question No. 37
Which of the following is/are types of straight edges?
A) Tool makers straight edge B) Wide edge straight edge

C) Angle straight edge D) All of the options

ffaf@a & & =l 9 e v 1 R §?

A) T AFH T T B) @183 TS ¥ TS
C) WIre ¥ T D) @t e
Answer Key : D Your Response : D (Correct)

Question No. 38

When some metal drops are expelled from the weld and remain stuck to the surface, then this
defect is known as-

A) Porosity B) Slag inclusion

C) Spatter D) Undercut

o] A FS G 308 A T AP I AR Tl W R9F A W gl arel AV FAT FgT Al

Y
A) IR (Y B) TolT Seerelslel
C) §&iX D) 3is&e
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Answer Key : C Your Response : A (Wrong)

Question No. 39

The viscosity of a fluid varies with-
A) Temperature B) Volume

C) Mass D) Density

T R Yery Fr FeTar ¥ WY IRade g &l

A) dYHATT B) 3adeT
C) acgAmT D) "elca
Answer Key : A Your Response : D (Wrong)

Question No. 40

The percentage of carbon in gray cast iron is in the range of-
A) 0.25100.75% B) 1.25t01.75%

C) 3t04% D) 8to 10%

T TOF AT (¥ FRE IRA) F FoA F 9o FE W F §2

A) 0.25 & 0.75% B) 1.25 & 1.75%
C)3ﬂ4% D)8‘\ﬁf10%
Answer Key : C Your Response : C (Correct)

Question No. 41

Auto frettage is the method of-

GET IT ON
Google Play

A) Joining thick cylinders B) Calculating stresses in thick cylinders
C) Pre stressing thick cylinders D) Increasing the life of thick cylinders
3ifer e #r fafer 1

A) A RAfET Fr Ssa B) &I fAcst & ¥Ar &I 0T ket
C) #Ae fRelstt &I dreefleT e D) &I el T A18H (3MY) Fold
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Answer Key : C

Your Response : C (Correct)

Question No. 42

The relation between surface tension and difference of pressure
between the inside and outside of a liquid drop is given by-

A)
_4o
=
)
%
P==

B)

D)

GET IT ON
Google Play

FAg a9 AR T g9 & eI 3R TERT gaF & AT gAarel g8 d F
7 & "oy FW TIr sJar 2

A)
_4o
=
C)
%
P==

Answer Key : A

B)

D)

Your Response : A (Correct)
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Question No. 43
Which of the following statements is FALSE with regard to shaper?
A) Job is held rigidly on a fixed bed B) The cutting tool remains stationary

C) The tool is mounted on the tool post fitted D) The cutting stroke is slower than the idle

at the end of ram stroke

AR F Fay 7 Am=faf@a & & i a1 w31 71ea 872
A) Sifg UH hees 95 W A& @ IJATSA B) &alel gl BT W@l Bl

forar ST g1

C) g & W & BR W ol g Ue W D) el Flh HTSSeT T I Jolell A T
ST ST B grar Bl
Answer Key : B Your Response : B (Correct)

Question No. 44

Euler's dimensionless number relates-

A) Pressure force and inertia force B) Inertia force and gravity force

C) Buoyant force and inertia force D) Buoyant force and viscous force

qo SRR FEar e 3§ Het -

A) &d@ ¥ AR FSdT gt B) STSal &l 3R I&carehsor def

C) 3ccarad §of 3R Fsar a7 D) 3ccalldd o 3R AT §ef
Answer Key : A Your Response : A (Correct)

Question No. 45

In the slider chain mechanism, which is an inversion of simple engine mechanism, the number

of links is-
A) 6 B) 5
C) 4 D) 3

TABST AT YOSl H, S TA SofeT HoTrelr Fr faeeT §, Ffeal Fr gear frasr gidr 82
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A) 6 B) 5
C) 4 D) 3
Answer Key : C Your Response : C (Correct)

Question No. 46

Carbon dioxide welding is also known as-

A) Metal Active Gas Welding B) Metal Inert Gas Welding

C) Metal Passive Gas Welding D) Metal Passive Arc Welding

e Srsifaarss afesa o Fgee gl

A) #ca afehg g afesar B) #ca 3ifsha 3t afesar

C) #ca fAfSwa 3 afesar D) #ca AfSHT 3% afeser
Answer Key : A Your Response : A (Correct)

Question No. 47

Muntz metal (yellow brass) contains copper and zinc in the ratio-

FHaer g (Frem e F R 3R TR F I B g 82

A 1:1 B) 2:3
C) 3:2 D) 1:4
Answer Key : C Your Response : B (Wrong)

Question No. 48
The algebraic sum of moments of the forces forming a couple about any point in their plane is-
A) Equal to the moment of the couple B) Constant

C) Both equal to the moment of the couple D) Neither equal to the moment of the couple

and constant nor constant
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39 ceie(plane) T T ofr g 3 s@if(forces) & AT St FIe(couple) FT & A § eTahr
dserorci(algebraic) 3T § -

A) @9el(couple) & HATC & S B) @®i¥cee
C) F9ei(couple) & HAce & R 3R D) o FUci(couple) F AAce & &R 3
Answer Key : A Your Response : C (Wrong)

Question No. 49

During throttling process-

A) Internal energy does not change B) Pressure does not change

C) Entropy does not change D) Enthalpy does not change

gefoler uftrar & ghrer-

A) 3aRke FeiT 78T Seerdr B) aTg 1gl ScoidT ¢

C) Tegdl =gl seercl D) Udedr A€l Seeldr &
Answer Key : D Your Response : D (Correct)

Question No. 50

In the tensile test, the phenomenon of slow extension of material (i.e.) increasing with the time
having constant load is called-

A) Creeping B) Yielding

C) Breaking D) Shrinking

fRR &R (constant load) W werd & e RER I ¥77 & @y i A gear #t

gl AT &

A) SHITTeT (Creeping) B) dfesar (Yielding)

C) sf&aT (Breaking) D) #ifeshar (Shrinking)
Answer Key : A Your Response : A (Correct)

Question No. 51

A portion of beam between two sections is said to be in pure bending, when there is-
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A) Constant bending moment and constant B) Constant bending moment and zero shear

shear force force

C) Zero bending moment and constant shear D) Zero bending moment and zero shear

force force

ar AR & dT @I F R REY A YE A H T AT ST §, 59 FH R/
I B

A) TR g 3mgeT 3R TR 30&qor a7 B) R daet 3mepl 3R d 3owqor ao
C) YT sehet MEOT 3R TR HIEIOT T D) T sehel IMTEQT 3R Yed HURUOT del

Answer Key : B Your Response : B (Correct)

Question No. 52

In order to have maximum power from a Pelton turbine, the bucket speed must be-
A) Equal to the jet speed B) Equal to half of the jet speed

C) Equal to twice the jet speed D) Independent of the jet speed

ocd s ¥ f0Faa afFa uread = & faw, see afa @ afge-

A) 3T & afd & SR B) Sic @ a1fa & 3 & sReR|
C) e & aifd & N[ & S| D) Sic &I aIfd & F&ad4|
Answer Key : B Your Response : B (Correct)

Question No. 53

What is the dryness fraction of dry and saturated steam?
(where x is dryness fraction)

A) x<1 B) x=1

C) x> 1 D) x=0

Yk AR Focd arsq T YRl I AT &2 (STET X YRl 3 1)
A) x <1 B) x =1

C) x>1 D) x

0
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Answer Key : B Your Response : C (Wrong)

Question No. 54

In process chart symbols, the circle represents-

A) Operation B) Storage
C) Transport D) Delay
R T R &, g ToveRiet o B
A) HdTesT B) #HSRUT
C) uRaea D) fSer (farers)
Answer Key : A Your Response : A (Correct)

Question No. 55

Which of the following is dimensionless?

A) Specific speed B) Specific volume
C) Specific gravity D) Specific weight
fAafaf@a # @ wia @ e 82
A) faferse arfa B) fafrse gikAror
C) fafrse &ca D) fafdrse &R
Answer Key : C Your Response : C (Correct)

Question No. 56

Orthogonal rake system is also known as-

A) ISO system B) Old ISO system
C) Normal rake system D) All of the options
3ifefaerer 3 R §ir shgelreT gl

A) ISO Yutrelr B) T ISO omelt
C) e & JoTelr D) @sh RAdew

GET IT ON
Google Play
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Answer Key : B Your Response : A (Wrong)

Question No. 57

Which of the following methods is used to group different parts into part families?
A) Visual inspection B) Production flow analysis

C) Classification and coding D) All of the options

Rrafae 3 & @ @ R & s9aer R T6E S aEE SEde § 7 6 & @ g

e?
A) T2 fAdreToT (Visual inspection) B) 3curce Yarg faRersor
C) gaffeor 3R IfSar D) sT# & Hair
Answer Key : D Your Response : D (Correct)

Question No. 58

Which of the following tests can be used to detect surface cracks in the welding of non-
magnetic alloys?

A) Fluorescent test B) Gamma ray test

C) X-ray test D) Magnaflux test

gy Ay argsit fr AT F G0 W @R F 9T T & AT a3 & Fler a0 adieqor

o S |ehar 87

A) FERIET gdrafor B) ImAT faor gdieTor

C) X-foor gdigyor D) HIATFAFH TLIeTor
Answer Key : A Your Response : B (Wrong)

Question No. 59

MKS unit of viscosity is-

A) B)
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N —sec kgf —sec
m’ m?
(@) D)
dyne—sec N
C"lz m- —sec
oITeAaT &1 MKS Jfae 8-
A) B)
N —sec kgf —sec
m’ m*
(o] D)
dyne—sec N
cm’ m’® —sec

Answer Key : B

Your Response : B (Correct)

Question No. 60

Seam welding is employed for metal thickness ranging from-

A) 8to 10 mm

C) 4to6 mm

B) 6to8 mm

D) 0.025to 3 mm

& g A A arel urg F v Wer AT Fr wer fRr S g
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A) 8 & 10 fA=hr B) 6 & 8 fA#Y
C) 4 & 6 fA#Y D) 0.025 & 3 fA=T
Answer Key : D Your Response : D (Correct)

Question No. 61

Which of the following is a spring controlled governor?

A) Hartung governor B) Pickering governor
C) Hartnell governor D) All of the options
g1 @ Fler a1 BT Rifa e gar 82
A) gIféer TaR B) TRer gy
C) gt Ao D) @ fawew
Answer Key : D Your Response : D (Correct)

Question No. 62
A steady rest is used for-
A) Long jobs B) Irregular jobs

C) Large diameter jobs D) Taper turning jobs

I [T FT 39T ¥ v fFar srar 2

A) @ e B) sfaafda Jie
C) &3 O dral e D) W efefer e
Answer Key : A Your Response : B (Wrong)

Question No. 63

The property which makes the moulding sand capable of withstanding high temperatures of
molten metal without the fusion of sand is-

A) Refractoriness B) Porosity

C) Cohesiveness D) Plasticity

Page - 24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

aggw,sﬂﬁ%wﬂ?aﬂia%ﬁm#ﬁmﬁaﬁgémgﬂsmmﬁ@aﬁﬁm
ST ¥, AT Fgelem 87

A) g&Fa (Refractoriness) B) TIYAT (Porosity)
C) HTSIHhdT (Cohesiveness) D) gucadr (Plasticity)
Answer Key : A Your Response : C (Wrong)

Question No. 64
Laminated springs are generally-

A) Loaded at ends and supported at the B) Loaded at the centre and supported at

centre ends

C) Loaded as well as supported at the centre D) Loaded as well as supported at ends

AfFRs ivw w: &

A) Rt R sRgE R d # R B) & # sy 3R RNl W @A

C) g W #RYFd AR FaAldq D) Rl W sRgFa AR gAldq
Answer Key : B Your Response : B (Correct)

Question No. 65

is used for sharpening of circular or band saws.
A) Saucer wheel B) Dish wheel

C) Segmented wheel D) Cup wheel

FT 3TART THr AT 95 31 A A7 4R A & v BFar e g

A) EER el B) f3er e
C) WIS e D) &9 gt
Answer Key : A Your Response : B (Wrong)

Question No. 66

In an ideal machine, the output as compared to input is-

A) Less B) More
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C) Equal D) May be less or more depending upon

efficiency

T IS AT F SAqe A Jololl # 3YC |

A) &F grar g B) 3iffre grar ¥
C) SRR gIar g D) E&Tdr & 3MUR W He IT 3% g TohaT &
Answer Key : C Your Response : C (Correct)

Question No. 67

The main constituent of dynamite is-

A) Sodium nitrate B) Nitroglycerine
C) Sulphur D) Potassium chloride
SIICTASE I {ET UeHh FT 87
A) @ifsgs Asee B) Arsgl-fTeraiist
C) Hew D) uReRE#E FaRTEs
Answer Key : B Your Response : B (Correct)

Question No. 68

Ceramic tool inserts are fixed to the tool holder by-

A) Casting B) Adhesives
C) Brazing D) Soldering
& giest 3 A o swéw ganT v fre e €
A) FITEEIT B) usefld
C) sfaer D) dresiar
Answer Key : C Your Response : C (Correct)

Question No. 69

The centre of pressure on an immersed surface is-
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A) At the centre of gravity B) Above the centre of gravity

C) Below the centre of gravity D) Depends on the viscosity of fluid

o aas W qua 1 &5 §

A) TEATHRIT F g T B) I&carehdul & Fg § IW

C) IFcaryur & &g F A D) R Uerd §r AT W AR e §
Answer Key : C Your Response : C (Correct)

Question No. 70

What is the full form of RIE in etching technique?
A) Reactor Inert Etching B) Reactive lon Etching

C) Reactive Immersion Etching D) Reactant In Etchants

sTerl aele (etching technique) 3 RIE T quf &7 T 82

A) RueFex gIC Tl B) dufdea 3maer uider
C) JuiFea sagT v D) INdese 54 Ta=ed(Etchants)
Answer Key : B Your Response : B (Correct)

Question No. 71

The thermal conductivity of copper at 300 K is-

A) 386 W/mK B) 204 W/mK
C) 111 W/mK D) 64 W/mK
300 K W aid it ardir e Al &1
A) 386 W/mK B) 204 W/mK
C) 111 W/mK D) 64 W/mK
Answer Key : A Your Response : A (Correct)

Question No. 72

is an error due to the irregular form of helical groove on a cylindrical surface.
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A) Progressive error B) Periodic error

C) Drunken error D) All of the options

IR, & ITTFR FAF R oFe @ & ARG §9 F FROT gerarer IR T

A) watiaefier 3fe (Progressive error) B) 3fad e (Periodic error)
C) gt 3fe (Drunken error) D) Tasedl & & @afr
Answer Key : C Your Response : A (Wrong)

Question No. 73

What is the carbon content in Pearlitic or Eutectoid steels?
A) 0.20% B) 0.70%

C) 0.83% D) 1.70%

RRRETSEF W qEaclss TeT 3 Fder 1 AT HT &2

A) 0.20% B) 0.70%
C) 0.83% D) 1.70%
Answer Key : C Your Response : C (Correct)

Question No. 74

What are the methods used for evaluating the surface finish?
A) Peak to valley height method B) Average roughness method

C) Form factor method D) All of the options

HAgr IRsHoT (surface finish) & el & faw e fafat & gier frar sirar 82

A) 9 g dr gree AYUS B) 3ad Wrexme fafer (Average roughness
method)
C) &9 ot fAfr (Form factor method) D) fasedl & & sl
Answer Key : D Your Response : D (Correct)

Question No. 75
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Weight of the body in Newtons (N) is-
A) kg.m/s? B) kg.m/s®

C) kg.m2/s2 D) kg.m3/s2

et (N) 3 R # a9 ¢ -

A) kg.m/s? B) kg.m/s3
C) kg.m2/s? D) kg.m3/s?
Answer Key : A Your Response : C (Wrong)

Question No. 76

GET IT ON
Google Play

Which of the following mechanisms is formed when the links of a mechanism lie in different

planes?
A) Compound B) Complex
C) Spatial D) Equivalent

AT & @ FiT O dF 9901 § 59 T 97 F Oe Rt @ 7 8a &2

A) FUES (FgF) B) wlFcelad (Sifee)
C) T3 D) sedidele (FHAIY)
Answer Key : C Your Response : A (Wrong)

Question No. 77

Which of the following is an anisotropic material?

A) Glass B) Mercury

C) Wood D) All of the options

ffaf@a &7 & =i @ IERE s 32

A) & B) 9RT (FReh{)

C) dhar D) fawedt # & @l
Answer Key : C Your Response : D (Wrong)
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IF ST F Ao & T g &1
A) 20 -40V B) 40 - 90 V
C) 100 - 150 V D) 150 - 230 V
Answer Key : A Your Response : B (Wrong)

Question No. 81

What is the Sl unit of kinematic viscosity?
A) m?/s? B) m/s?

C) m/s D) m?%s

fAF AT A S| SHE FAT 8?7

A) m?/s? B) m/s?
C) m/s D) m?s
Answer Key : D Your Response : B (Wrong)

Question No. 82

The efficiency of a heat engine working on the Carnot's cycle between 900°C and 300°C will

be-
A) 80% B) 45.6%
C) 66.66% D) 51.15%
900°C 3i 300°C & & Fleifc TF R FH F dqTor FSAT SoieT T GaTall ____ gian|
A) 80% B) 45.6%
C) 66.66% D) 51.15%
Answer Key : D Your Response : C (Wrong)

Question No. 83

For cylindrical grinding, the peripheral speed will be of the order of-
A) 1800 m/min B) 9000 m/min

C) 1000 m/min D) 800 m/min
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YRR ARET F [T, F wA 6 F0wwe afa g
A) 1800 #Hrex/ fAse B) 9000 #ex/ fAste
C) 1000 #Hrey/ fAc D) 800 Hrex/ fA=AT
Answer Key : A Your Response : A (Correct)

Question No. 84

The specific speed of an impulse turbine ranges from-
A) 0-45 B) 100 - 140

C) 100 - 200 D) 200 - 300

TF SFqeq XA & (s afa W & @ @

A) 0-4.5 B) 100-140
C) 100-200 D) 200-300
Answer Key : A Your Response : A (Correct)

Question No. 85

A hydraulic press is used to produce circular blanks of 10 mm diameter from a sheet of 2 mm

thickness. If the shear strength of sheet material is 400 N/mm?Z, the force required to produce a
circular blank is-

A) 8kN B) 25.13 kN

C) 31.42kN D) 125.66 kN

& gsgifad 99 & 39T e 2 A Al dfie & 10 A s e aile selew oA e
I §1 I e |l fr 39w TEar 400 N/ A 2 § Y 9 =l 9 & QT s

o foraer ghem?
A) 8 kN B) 25.13 kN
C) 31.42 kN D) 125.66 kN
Answer Key : B Your Response : A (Wrong)

Question No. 86
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In hot blast Cupola-
A) Temperature is high B) Melting rate is high

C) Carbon percentage in castings is high D) Air supplied is preheated

gIc SaRee Futelm ¥ -
A) dIATT 3% grar § B) Tgcer fr &X 3ifae gt &
C) FIfecar F Fraa ufaera 3% & & D) 3mqfc v 15 gaT TgS F IRA BN &

Answer Key : D Your Response : D (Correct)

Question No. 87

The reducing or carburizing flame can always be recognized by the presence of

distinct flame zones.
A) One B) Two
C) Three D) Four

Feer &t Sier fr Alget & & W FA F@ T FYREET @ FrogIRr ggEET ST

Hehe Bl
A) TH B) ar
C) o= D) X
Answer Key : C Your Response : C (Correct)

Question No. 88

For resistance spot welding of 1.5 mm thick steel sheets, the current required is of the order-
A) 10A B) 1000 A

C) 100 A D) 10000 A

15 Bl A o fe i Wy wie s § Ry, meas fRegd orvr
A

A) 10 A B) 1000 A

C) 100 A D) 10000 A
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Answer Key : D Your Response : D (Correct)

Question No. 89

What is the full form of SLA in rapid Prototyping?

A) Stereolithography B) Selective Laser Additives

C) Selective Laminated Additives D) Stereo Laser Action

e sielersT & SLA T qUT &9 &7 87

A) FRafaads B) daifded doR ufRfeew

C) ¥afdea dffacs ufsfeew D) FEIRAT ook TR
Answer Key : A Your Response : B (Wrong)

Question No. 90
Which of the following alloys does NOT contain tin?
A) Gun metal B) Phosphor bronze

C) Fusible plug material D) White metal

fArfaf@a 7 & *lad B arg 7 fea7 a7 g &2

A) 7T Aed B) WITHT ool
C) wgfotelel Tl HEIRTer D) <glsc Heol
Answer Key : D Your Response : C (Wrong)

Question No. 91

If three non parallel forces hold a rigid body in equilibrium, they must be-
A) Equal in magnitude B) Concurrent

C) Non-concurrent D) Collinear

I A I FAEIR T FoleT F TF FOR S @ § A ¥ IaeT HFH ghr-
A) 9REATT # TR B) @#Hadl
C) IR-wHadi D) &M@

GET IT ON
Google Play

Page - 34


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Answer Key : B Your Response : A (Wrong)

Question No. 92

In physics, fluid is a substance that-

A) Is essentially incompressible B) Always moves when subjected to a

shearing stress

C) Has a viscosity that always increases with D) Has a viscosity that always decreases with
temperature temperature

sifgw e &, R & qert ¢ -

A) fAar ¥ ¥ EdEET B) S« 3g%qur yfded & 3 gar g, ar
G 3G A B

C) SUH AT Bl § Sl §HRT dUAT & D) 3HH AT gldr § S AT diudA &
Yy e gl g e S gl

Answer Key : B Your Response : D (Wrong)

Question No. 93

A particle starts from rest and moves in a straight line whose equation of motion is given by S =

2t3 - £2 - 1. The acceleration of the particle after one second will be-
A) 4 m/s? B) 6 m/s?

C) 8 miss? D) 10 m/s?

T FOT R & F @ delr Y@ & aoar ¢ e aifa @eleor S = 268 - 2 - 1 Rar S
21 T FT T T U8 F 916 gl-

A) 4 2 B) 6 #a2
C) 8 a2 D) 10 #ra?
Answer Key : D Your Response : A (Wrong)

Question No. 94

If a shaper has a stroke length of 240 mm and number of double strokes per minute is 40 and
ratio of return to cutting time is 2 : 3, then its cutting speed is-
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A) 15.9 m/min B) 6.4 m/min

C) 32 m/min D) 3.2 m/min

GET IT ON
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iy R AW i dar 240 R & 3% 9 PAeie s ©F A dEwr 40 § IR FIT TERIT A

AT FAT T IO 2 : 3 B, a A FAA A §-

A) 159 He/fAae B) 6.4 Het/Ase
C) 32 Hey/fAse D) 3.2 Hey/fAse
Answer Key : A Your Response : A (Correct)

Question No. 95

A hot wire anemometer is used for the measurement of-
A) Pressure of gases B) Velocity of gases

C) Viscosity of gases D) Viscosity of liquids

& A9 & AT gic aRR A S 39T fFar Siar 2

A) Gl & garg B) 3T &1 qer
C) &t Fr eFmerar D) gar ST I1eAar
Answer Key : B Your Response : B (Correct)

Question No. 96

Which of the following welding has low heat affected zone(HAZ)?
A) Metal Inert Gas Welding B) Electron Beam Welding

C) Shielded Metal Arc Welding D) Submerged Arc Welding

o & ¥ By afessr & e Fsar yonfaa S (HAZ) giar 87

A) urq 3t 3w afesa B) Seidcld §iF dfeser
C) uRfera urq 3meh dfeser D) HeHASsS 3 dfeser
Answer Key : B Your Response : B (Correct)

Question No. 97
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A single point cutting tool of nomenclature 0-7-7-7-15-15-1/32 has the back rake angle of-
A) 0° B) 7°

C) 15° D) 32°

0-7-7-7-15-15-1/32 AHAifhd Tohel g helet SR T 4 Yo Wrer ke grar 82

A) 0° B) 7°
C) 15° D) 32°
Answer Key : A Your Response : B (Wrong)

Question No. 98

If the change in density occurs at a constant temperature, then the process is called

process.
A) Isothermal B) Isobaric
C) Isochoric D) Adiabiatic
IfE ve FRR avAR W oeica # aRade giar § ar ufear & UfShaT FET ST B
A) FHATIT (TSEAH) B) AT (3MSHISR)
C) THITATS (ITSAIRIRD) D) Ter# (¥fEafes)
Answer Key : A Your Response : A (Correct)

Question No. 99

A metal plate has a surface area of 2m? and thickness of 10 mm and a thermal conductivity of
200 W/mK. Then the thermal resistance of the plate is-

A) 4 xX10* KW B) 25X 103 kK/w

C) 15X 10° KW D) 2.5 X 105k/wW

TH U1 A e F Y5 aha 2m? AR A 10 Bl 81 3w ardr areswar 200 WimK g

ar e # a9 9oy fraer &-
A) 4 X 104 KW B) 2.5 X 103 kW
C) D)
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1.5 X 10 K/W 2.5 X 105k/w

Answer Key : D Your Response : A (Wrong)

Question No. 100

The product of the diametral pitch and circular pitch is equal to-

A) 1 B) 1/m
C)m D) 2m
=g e iR e R F qoesd ¥ TR g
A) 1 B) 1/
C) m D) 2m
Answer Key : C Your Response : C (Correct)

Question No. 101

A heat engine receives heat at the rate of 1500 kJ/min and gives an output of 8.2 kW, then the
thermal efficiency is-

A) 47.20% B) 41%

C) 32.80% D) 27.90%

TS FEAT §oiT 1500 kJ/min T G & FEAT 9o FT § AR 8.2 kW 33T &ar ¥, o sEh

ardrr garar A
A) 47.20% B) 41%
C) 32.80% D) 27.90%
Answer Key : C Your Response : C (Correct)

Question No. 102

In the Rockwell test for hardness on the B scale-
A) A steel ball is used B) A diamond cone is used

C) A steel hammer is used D) A plastic hammer is used
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B hdl 9T FORAT & Udhdel G0 |

A) T Fr g FT 39IET fohar ST & B) R & UF (AT HlA) H 39Aer foar
ST &
C) Tl & g2ls &1 39T har Srar § D) ctoriEes & gdlsr 3uAeT fFar Srar §
Answer Key : A Your Response : A (Correct)

Question No. 103

Which of the following modelling methods uses Boolean operations?
A) Boundary representation B) Constructive solid geometry

C) Surface modelling D) Wireframe modelling

fmfaf@a & & e Ao woR 3 gfoaei(Boolean) HaTelT & 39T glar 872

A) 33T RyeiesrsT B) s¥cahied HAifals ST
C) &ha Alsfeldr D) aRRA Alsfeldr
Answer Key : B Your Response : A (Wrong)

Question No. 104
In the relation of Kinematic chain, if L.H.S > R.H.S, then the chain is said to be-
A) Locked B) Constrained

C) Unconstrained D) Unlocked

afaer f@er & waw #, IR LH.S. > RH.S §, a 4@ar & 4T FgT AT 872

A) ¢ (Locked) B) %f¥& (Constrained)
C) ¥=oIqul (Unconstrained) D) e (Unlocked)
Answer Key : A Your Response : A (Correct)

Question No. 105

Major constituents of stellite are-
A) Cobalt, vanadium and nickel B) Nickel, copper and zinc

C) Zinc, lead and tin D) Cobalt, chromium and tungsten
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VB & qTT UH gl

A) FieTec, dafsga 3R Hedd B) faaehar, arem 3R Sr&Ear
C) &, o5 3R &= D) @ldTee, HIfATH 3R e
Answer Key : D Your Response : D (Correct)

Question No. 106

In a fixed beam having a uniformly distributed load over the whole span, the moments will be
calculated by the formula-

A) wL2/12 B) wi3/s

C) wL?/s D) wiL3/12

T R @ #, O @ e 7 o) v ®9 & RaRa 8, smget fr s wla & g7 @ fr

STeEf)
A) WL2 / 12 B) wi3 /8
C) wL2 /8 D) wi3 /12
Answer Key : A Your Response : B (Wrong)

Question No. 107

The distance between two parallel shafts connected by Oldhams coupling is 20 mm. The
driving shaft revolves at 200 R.P.M. Determine the maximum velocity of sliding.

A) 0.265 m/s B) 0.419m/s

C) 0.534 m/s D) 0.725 m/s

3iiesgrd FAfeleT & S8 §U & FAWICR AFe F N gff 20 e §. IRares e 200 RP.M
W YA TET 5l I (FemSfEam) & Ageawn e fAuiRa w12

A) 0.265 m/s B) 0.419 m/s
C) 0.534 m/s D) 0.725 m/s
Answer Key : B Your Response : B (Correct)

Question No. 108
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A beam fixed at both ends with a central load W in the middle will have zero bending moment

at-
A) One place B) Two places
C) Three places D) No where
T A Uh AT ARW & Y el R W A A T S AW A W d
3eoT g
A) TH SR B) ar Seg
C) e serE D) &gl =16l
Answer Key : D Your Response : B (Wrong)

Question No. 109

Which mouthpiece is having the maximum coefficient of discharge?
A) External mouthpiece B) Convergent-Divergent mouthpiece

C) Internal mouthpiece D) None of the options

fre ATt % Ade #1 AftEan EnE B §?

A) sl AEYdE B) Fedoic - STedoic AFYIH
C) 3dRe ARYdH D) 3aH & HIs el
Answer Key : B Your Response : C (Wrong)

Question No. 110

The number of atoms per unit cell in BCC is-
A) 2 B) 3

C) 4 D) 6

BCC 3 ufay gfae A F waAmp Hr dwr 3-

A) 2 B) 3
C) 4 D) 6
Answer Key : A Your Response : A (Correct)
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Question No. 111

In which process is the diameter of a tube reduced or increased by forcing into a confined die?
A) Swaging B) Embossing

C) Lancing D) Forging

e gwe I v IREg(confined) 31§ # STERGHIT ST U <d HT UM HCHT AT TGHRIT STl

22
A) Eafarer B) uweSIaeT
C) wifder D) wifster
Answer Key : A Your Response : A (Correct)

Question No. 112
A wound watch spring possesses energy in the form of-
A) Mechanical potential energy B) Kinetic energy

C) Spring energy D) Both Kinetic energy and spring energy

TF TIE A arel g3 # FRAREr et @ R ¥ 7 @il 82

A) TifEe fufas Far B) wifast Far
C) faafier =it D) aifast Far 3R e Foi gt
Answer Key : A Your Response : A (Correct)

Question No. 113

Which of the following processes is different from the others?

A) Cyaniding B) Nitriding

C) Flame hardening D) Electroplating
Fer 4 R gt & 3 §2

A) FRITSTET B) asgrsfEa
C) woid grsfetar D) gelFrIcafea
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Answer Key : D Your Response : D (Correct)

Question No. 114

A rigid body has degrees of freedom.
A) Three B) Four
C) Five D) Six
S g s F T AR gkl #
A) o B) @R
C) ua D) B¢
Answer Key : D Your Response : A (Wrong)

Question No. 115

The ratio of stress produced by suddenly applied load to that produced by the same load when
gradually applied is-

A) 4 B) 2

C) 1 D) 1/2

IS GFT NS @RI 37l Yidael & 3W olis H HfAS FT § T FT I W 3ot

faee T 3eqarT g
A) 4 B) 2
C) 1 D) 1/2
Answer Key : B Your Response : D (Wrong)

Question No. 116

An oil of specific gravity 0.9 has viscosity of 0.28 Stokes at 38°C. What will be its viscosity in

Ns/m?2?

A) 0.2520 B) 0.0311

C) 0.0252 D) 0.0206

faflre secarsdor 0.9 & wF Aa # 38°C W 0.28 T H eI gt &1 Ns/m? 7 &
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A) 0.2520 B) 0.0311
C) 0.0252 D) 0.0206
Answer Key : C Your Response : C (Correct)

Question No. 117

GET IT ON
Google Play

The least count of a metric Vernier caliper having 25 divisions on the Vernier scale, matching

with 24 divisions of the main scale (1 main scale division = 0.5 mm) is-
A) 0.005 mm B) 0.01 mm

C) 0.02 mm D) 0.1 mm

AET Tl & 24 e (1 A&7 T Adse = 0.5 A7) & @ A9 @ gu 25 s

areT AR T W Aftd afeew FRW #1 F7 § 7 AT §-

A) 0.005 T&#Y B) 0.01 &=
C) 0.02 Ay D) 0.1 A
Answer Key : C Your Response : C (Correct)

Question No. 118

Feeler gauges generally comprise of gauging blades available in overall length of-
A) 50 mm B) 75 mm

C) 80 mm D) 100 mm

BreR AT F 37 dR W ____ A Fo oiar$ F 3yerey A sz @ &

A) 50 fA#T B) 75 AT
C) 80 f&=Tr D) 100 f&=r
Answer Key : D Your Response : A (Wrong)

Question No. 119

During arc welding, eyes need to be protected against-

A) Intense glare B) Microwaves
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C) High-frequency waves D) X-rays and gamma rays

3T afesa & e A G T 9T T T RIS gl gl

A) dig IA® B) #ASHAd

C) 3= 3mgfcd (g1 shrerad) adam D) TFH-Y AR AT fvont
Answer Key : A Your Response : D (Wrong)

Question No. 120

A closely coiled helical spring of 20 cm mean diameter is having 25 coils of 2 cm diameter rod.

The modulus of rigidity of the material is 107 N/cm2. What is the stiffness for the spring in

N/cm?
A) 50 B) 100
C) 250 D) 500

20 ¥R AW F Aheadt Fsopd IR BT 7 2 AT =aw fr B3 & 25 Hiser g
&1 TRl A #AgiE FRAr 107 N/cm?2 &1 Niem & &1 & fav 31hsaT (stiffness) Far 8?2

A) 50 B) 100
C) 250 D) 500
Answer Key : B Your Response : A (Wrong)
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Exam
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Date
Exam

:14:00 - 16:00
Time

Question No. 1

The property of a material by which it can be beaten or rolled into sheets is known as-

A) Malleability

C) Plasticity

B) Ductility

D) Elasticity

verd #7 9F T §, R ¥ e a1 Vo5 aF ot 3 ager ST e B

A) 3maraadiadar (Malleability)
C) canfeeahar (Plasticity)

Answer Key : A

B) delaiflerar (Ductility)
D) 9carEgar (Elasticity)

Your Response : A (Correct)

Question No. 2

Magna flux is-

A) A non-destructive inspection technique
that makes use of magnetic field and
magnetic particles to locate flaw in

materials

C) An
welding

instrument used for inspection of

AT T BT §-

A) & dAldfseeided &0 deee  foae
AHA A AV H Il 9 & AT g
&9 3R dahrg HO & 3uFET fohar Srar
e

C) afesar & fAderor & fav gaer frar S«

B) An instrument using ultrasonic techniques
for crack detection

D) An instrument used for

measurements using magnetism and flux

precision

density

B) IR & Udl ol dlell 39awol  fora#
3o deheilehl T 3TN &IdT &l

D) Us 3usor fo@# & AT & AT gashed
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grell 39T 3R FoIFH Gelcg T 3YANET fRAT ST §

Answer Key : A Your Response : A (Correct)

Question No. 3
Acetylene feather is present in which of the following flames of welding?
A) Neutral flame B) Carburising flame

C) Back flame D) Oxidising flame

afeser i Afaf@a 1 & frw ot F cfaftels Sex #AlE gar &2

A) 3crErT @ (Neutral flame) B) wredusfoier ot (Carburising flame)
C) ued ol (Back flame) D) 3ifedeRes o (Oxidising flame)
Answer Key : B Your Response : B (Correct)

Question No. 4
The loss of energy of the flowing fluid is due to-
A) Sudden contraction B) Sudden enlargement

C) Bends D) All of the options

T 5 B Fofl 1 JHAR FFEd FROT G §?

A) 3T asﬁ?r (Sudden contraction) B) 31dlsdsh SSTWHT (Sudden enlargement)
C) sfhdT (Bends) D) Ta%edr & & Y
Answer Key : D Your Response : D (Correct)

Question No. 5
Which of the following is a type of solid state welding?
A) Ultrasonic welding B) Thermit welding

C) Atomic hydrogen welding D) Laser Beam Welding

S99 ¥ FiT, S HaeAr F AT FT vF YFR &7
A) 3ecraifas afege B) ufde afesm

Page - 47


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

C) Teifae grssieel afesa D) @R &t afesar

Answer Key : A Your Response : A (Correct)

Question No. 6

The deterioration of metals through oxidation is called-

A) Corrosion B) Anodization
C) Galvanization D) Phosphating
AT F ATTH F P arelr g3t Hir Prrae : = Fer Fer 82
A) St B) TAIfEorEeT
C) dcasiienor D) wrEhfear
Answer Key : A Your Response : A (Correct)

Question No. 7

A combination of two or more materials to form a new material with enhanced material
properties is known as-

A) Reinforcement B) Matrix

C) Composite D) Polymer

ar ar & ¥ T werdt & Wi ¥ wRegpa sifaw ot arer AU gerd F goe fr B @

gl ST gl
A) YaosT (Reinforcement) B) #fewrd (Matrix)
C) FHEqifae D) dfeileR
Answer Key : C Your Response : C (Correct)
Question No. 8
Soft solder consists of-
A) Lead and tin B) Lead and zinc
C) Lead and aluminium D) Copper and tin
T West # e g €
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A) @3 AR et B) @5 3R Sr&ar
C) s 3R TogaAfagH D) drer 3R et
Answer Key : A Your Response : A (Correct)

Question No. 9

Which mechanism is formed by the inclusion of ternary or higher order floating link to a simple

mechanism?
A) Compound mechanism B) Complex mechanism
C) Planar mechanism D) Spatial mechanism

TF W dF ¥ ol T AL AT 359 FH Falfedr ol & elaarer a7 Far 872

A) FFI3S AFfaeH B) ol HebfeloH
C) Tolelk HonfeloH D) TUIge Hhfesd
Answer Key : B Your Response : A (Wrong)

Question No. 10

Which of the following is an intensive property?

A) Temperature B) Pressure
C) Volume D) Both temperature and pressure
g & FleT v | T 87
A) dYIHATT B) &
C) 3made D) am#e 3R T gt
Answer Key : D Your Response : D (Correct)

Question No. 11

Spring index is-
A) Ratio of coil diameter to wire diameter B) Load required to produce unit deflection

C) lIts capability of storing energy D) Indication of quality of spring
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A) dR & =TE & Higel & I HT el B) s fI&IUuT & 3cUlgd el & fov g

& 3TaRISAT BT &
C) oIt HSRUT &I SHAT &FHAT D) f&uer Y IuTacar HT Hehel
Answer Key : A Your Response : A (Correct)
Question No. 12

One Joule is equal to which of the following?

A) (Newton) . (Meter) B) (Coulomb) . (Volt)
C) (Pascal) . (Meter)? D) All of the options
& Sl fAefaf@d F § frad SR 82
A) () . () B) (o) . (aleT)
C) (arear) . (3 D) et & Wl
Answer Key : A Your Response : D (Wrong)

Question No. 13

If the number of constraints is five, then degrees of freedom will be-

A) One B) Two
C) Three D) Four
Freard (3EY) 9T @ W Faaar &R g
A) TH B) ar
C) o D) IR
Answer Key : A Your Response : A (Correct)

Question No. 14

In the coupling rod mechanism of a locomotive, each of the four pairs is a-

A) Sliding pair B) Rolling pair
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C) Screw pair D) Turning pair

AFAfRT F Fufelhr e a7 &, IR 2 7 A 7 & &

A) TaTsfSer U3R B) feler 3R
C) & W3R D) efeter I3R
Answer Key : D Your Response : D (Correct)

Question No. 15

The polytropic index is zero for process.
A) Constant volume B) Constant pressure
C) Constant temperature D) Isentropic
WA F faT delieie ga@ie T T gl
A) fAgdis 3made B) faadi g
C) fFudais a D) 3TsHcIs
Answer Key : B Your Response : B (Correct)

Question No. 16

The cutting edges of a twist drill are known as-

A) Flanks B) Wedges
C) Flutes D) Lips
feawe 3 & Fres arer R FEeld &l
A) WFelw B) do@
C) WelcH D) focw
Answer Key : D Your Response : D (Correct)

Question No. 17

In laminar flow, maximum velocity at the centre of the pipe is how many times the average
velocity?
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A) Two B) Three

C) Four D) Five

YT WaTg A, ST F g W Afwan 397 e der F Braer I dar 22

A) ar B) GG
C) IR D) ui=r
Answer Key : A Your Response : A (Correct)

Question No. 18

What is the full form of RTD?
A) Resistance Time Damper B) Resistance Temperature Detector

C) Resistive Temperature Diode D) Ratio of Time Difference

RTD & quf &7 (A1) T 82

A) IIFed TEA SFR B) YSi¥ced CFRTR f3eaex
C) ¥ SFR= SIS D) I3 AH1F TsH Bwiw
Answer Key : B Your Response : A (Wrong)

Question No. 19

Mouthpieces are used to measure-
A) Velocity B) Friction

C) Pressure D) Rate of flow

A & AT AYNT Fr 39AT FAT F1ar g

A) I B) =¥ur
C) caa D) 9arg X
Answer Key : D Your Response : D (Correct)

Question No. 20

Angle between the tool face and the ground end surface of flank is called-
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A) Lip angle B) Rake angle

C) Cutting angle D) Clearance angle

¢ % AR wlF fr a33 U3 wag F AT F BT FTFAT FT SAAT 87

A) o Tarer B) & Ul
C) Fdel TIrel D) TFerad® warer
Answer Key : A Your Response : A (Correct)

Question No. 21

Which of the following substances has the largest value of Young's modulus?
A) Rubber B) Nylon

C) Iron D) Copper

ffaf@a F & e agrd & Jer & Aiw # weifts g 82

A) IR B) ATIdleT
C) =it D) afer
Answer Key : C Your Response : C (Correct)

Question No. 22

What is the full form of WJM?
A) Water Jacket Machining B) Water Jet Machining

C) Weight Jack Machining D) Wind Jet Machining

WJIM T qoF &7 T 8?

A) X Sihe  AMAT  (Water  Jacket B) areX Sic #Rfifr (Water Jet Machining)
Machining)

C) dc & #:MfAT (Weight Jack Machining) D) fds Sl #efifeer (Wind Jet Machining)

Answer Key : B Your Response : B (Correct)

Question No. 23
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For wire drawing operation, the work material should be-
A) Ductile B) Tough

C) Malleable D) Resilient

arR dfee & F F faw, wgaa gerd Far g afge?

A) daale (Ductile) B) 3R (Tough)
C) 3maraad=m (Malleable) D) ufa¥hdr (Resilient)
Answer Key : A Your Response : A (Correct)

Question No. 24

is the point where the side cutting edge and end cutting edge intersect.
A) Shank B) Flank

C) Nose D) Face

a5 fig &, 6T W15 FRer var AR U3 FR e wiasRa = §

A) % B) W&
C) =rer D) &8
Answer Key : C Your Response : C (Correct)

Question No. 25

A device, which holds, locates a workpiece, guides and controls one or more cutting tools is

called-
A) Jig B) Fixture
C) Template D) Lathe

98 39T, St T aFd $r gohsar §, G A & o ST &, v IO v @ 30F wddT
3T Fr RAERT Far § 3R FERT Far &, T8 T Fgorar &7

A) 39T (Jig) B) fherH=X (Fixture)
C) <FJelc(Template) D) oY (Lathe)
Answer Key : A Your Response : A (Correct)
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Question No. 26

is the cutting action of thousands of sharp abrasive grains.
A) Grinding B) Milling

C) Broaching D) Drilling

, TORT AT AT (3rqee) I Fr Fder BT B

A) FIsfse B) fAfeiar
C) sifear D) fgferar
Answer Key : A Your Response : A (Correct)

Question No. 27

GET IT ON
Google Play

Which of the following grinding machines is used to grind long and slender cylindrical rods?

A) Bench grinder B) Portable grinder

C) Centreless grinder D) Surface grinder

AfRf@a #§ ¥ Fia @ a¥ur FAT F1 3gAET F 3R gde TEAER SEF A B F Qv

T e 2

A) ST AR B) uide ABTX

C) Helord IMSesT D) &%hH ST

Answer Key : C Your Response : C (Correct)

Question No. 28

Zeroth law of thermodynamics forms the basis of measurement.

A) Pressure B) Temperature

C) Heatrate D) Work

FEATTART T Egal g AGT HT IR &

A) g B) dam

C) AT &I D) &
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Answer Key : B Your Response : B (Correct)

Question No. 29

A fathometer works on the principle of:
A) Reflection of sound waves B) Reflection of magnetic waves

C) Reflection of radio waves D) Reflection of ultrasonic waves

tharex ¥ RAgid W I T 8

A) &afe @ & Wrace B) YT TRl & Wrdcie
C) A aielt & wrade D) 3rccralfaish (RT8Ed) diei & WRIdde
Answer Key : A Your Response : D (Wrong)

Question No. 30

Existence of velocity potential implies that the fluid flow is-

A) Steady B) Uniform

C) lIrrotational D) In continuum

R FAg TR FawEs _ #

A) X (Steady) B) T& @A (Uniform)

C) R-guwerfe (Irrotational) D) foRaRar & (In continuum)
Answer Key : C Your Response : C (Correct)

Question No. 31

The highest point of a siphon is called-
A) Siphon top B) Summit

C) Reservoir D) Elevation

ISWHel FT IoddA g FAT Fgl SIIar g2
A) TEHT T B) @FHIC
C) WX D) ufaaee
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Answer Key : B Your Response : B (Correct)

Question No. 32

The rope or cable of a crane carrying a load is in-

A) Tension B) Compression
C) Bending D) All of the options
$R 331 dTelr shel I THAT AT Fael ghar 82
A) &2 (Tension) B) @#uereT (Compression)
C) dfsar D) 3H & gl
Answer Key : A Your Response : A (Correct)

Question No. 33
The property of a fluid which determines its resistance to shearing stress is called-
A) Surface tension B) Compressibility

C) Viscosity D) Specific gravity

el g @ g 7ur, S Iwaer yfaee & gfa sud afeRw # uifRe = 8 3@ w=&r Fa

ST 82

A) Ts& deTa (Surface tension) B) ¥dsIar (Compressibility)

C) Im=Iar (Viscosity) D) 3muféie g«ica (Specific gravity)
Answer Key : C Your Response : C (Correct)

Question No. 34

A dielectric is used in-
A) Electro-chemical machining B) Ultra-sonic machining

C) Electro-discharge machining D) Laser machining

Wraegd F TN & frar Srar g1
A) Solgci-shfide ALMfT B) 3fegr Aifde #fifetar
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C) gaFg-fSEaret FNfeAaT D) @R AT

Answer Key : C Your Response : C (Correct)

Question No. 35

The property of sand due to which the sand grains stick together is called-

A) Collapsibility B) Permeability

C) Cohesiveness D) Adhesiveness

X & J§ o1, FoIEF FROT 3T & FT WER @I 1 &, FEelldl &l

A) fauarcgan(Collapsibility) B) URETHIAT(Permeability)

C) Tashdr(Cohesiveness) D) 3masihdr(Adhesiveness)
Answer Key : C Your Response : C (Correct)

Question No. 36

What is the unit of the Section modulus?

A) mm? B) mm
C) mm? D) mm?3
VA ASZerd FT AES T 67
A) @y 4 B) fA#Y
C) 2 D) s 3
Answer Key : D Your Response : D (Correct)

Question No. 37

The maximum efficiency of a screw jack having square threads and a friction angle of 30° will

be-
A) 9% B) 11%
C) 20% D) 33%

& YT 3% fEd warw grr 3R 30° @ v e¥ur FIer @iar §, @ AgcdA(maximum) EETT
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T FT?
A) 9% B) 11%
C) 20% D) 33%
Answer Key : D Your Response : D (Correct)
Question No. 38
Stiffness is defined as the load required per unit of the spring.
A) Area B) Volume
C) Deflection D) Height
Rerad Fr 5T F ¥ ufa gfae maeas @iz F w9 # R frar e B
A) & B) 3made
C) fage=t D) Fars
Answer Key : C Your Response : C (Correct)

Question No. 39

Which of the following structures contains 6.67% of carbon?
A) Ferrite B) Austenite

C) Pearlite D) Cementite

fArfaf@d & & T G 7 6.67% FI&T gxar &2

A) ST B) 3ifeease
C) Mrarse D) ¥Aw<rse
Answer Key : D Your Response : D (Correct)

Question No. 40

The distance from the top land to the pitch circle in a gear is termed as-
A) Pitch B) Dedendum

C) Addendum D) Clearance
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IR & oY s & R e aF i g =1 =1 Fgr ST 87

A) = B) f3Sz#
C) wssH D) 3faerer ([Feradd)
Answer Key : C Your Response : C (Correct)

Question No. 41

In spot welding, the spacing between two spot welds should not be less than-

A) d B) 1.5d
C) 3d D) 6d
TWie 3fesT &, & Tic de5 F T i i e=I(spacing) A FH ¢ gl AR
A) d B) 1.5d
C) 3d D) 6d
Answer Key : B Your Response : C (Wrong)

Question No. 42

If my = mass of dry air and my,= mass of water vapour in the air-water vapour mixture, then

humidity ratio is given by-
A) my/mg B) mg/my,

C) (my+mg)/my, D) mg/(mg+my)

i ag-Srer arsq AT FA m, = LF I F GeAAT AR my, = T T F geFAT g, A

3T 39T (humidity ratio) #r ZanT YeRia frar ST §1
A) m,/my B) mg/m,,
C) (my*+mg)/my D) mg/(mg+m,,)
Answer Key : A Your Response : D (Wrong)

Question No. 43

Match plate pattern is used for-
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A) Green sand moulding B) Pit moulding

C) Machine moulding D) Bench moulding

AT o Yeet F 1 3T Fad AT R ST §-

A) M1 ds Afes B) fae Aifegar
C) &M Afesar D) &= Aifesr
Answer Key : C Your Response : C (Correct)

Question No. 44

The process of bevelling sharp ends of a workpiece is called

A) Knurling B) Grooving
C) Facing D) Chamfering
R TR & as T Fr s3feT (bevelling) Fr FfmAT Fr gl ST g
A) afemr B) dffder
C) & D) dFwmRar
Answer Key : D Your Response : D (Correct)

Question No. 45

Which of the following is a sliding pair?

A) Bolt and nut B) Ball and socket joint
C) Belt and pulley D) Cross-head and guides
fef@a # & =1 v TasfEr B3R &7
A) sree 3R =i B) dfal 3R dAlhe Jise
C) o AR o D) a3 3R mgs
Answer Key : D Your Response : D (Correct)

Question No. 46

is an example of force closed pair.
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A) Circular shaft revolving inside a bearing B) Cam and follower pair

C) Rectangular rod in a rectangular hole in a D) Lead screw and nut of a lathe
prism

P Fellos oA F TS 3G ¢

A) IR & HeX FAN g8 TeleAroh MFe B) & 3R W3R FaA

C) fsa # Al IFAHR B¢ # IIASHR D) oY & oI5 & 3R &
s

Answer Key : B Your Response : A (Wrong)

Question No. 47
A Kaplan turbine is suitable for-
A) High head low discharge B) High head high discharge

C) Low head low discharge D) Low head high discharge

Hel TS % foT 3uged g

A) &5 g3 ot Rrae B) &% &3 g REawt
C) ot g5 ot Rwrer D) &t g3 &% fBEm
Answer Key : D Your Response : D (Correct)

Question No. 48

What is the area of a pipe line which carries 100 m?3/s of water with a velocity of 0.25 m/s?
A) 100 m? B) 400 m?

C) 300 m? D) 200 m2

Rt aIB et # 0.25 @A F T F AT 100 mS/s G YaIfgd T §, ST ST Fr AT

AT I
A) 100 m? B) 400 m2
C) 300 m? D) 200 m2
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Answer Key : B

Silicon steel is widely used in-
A) Electricial industry

C) For making leaf springs

AfPT T FT A9H §7

A) golfach ST
C) of% f&er st e & faw

Answer Key : A

Your Response : B (Correct)

Question No. 49

B) Chemical industry

D) For making nuts and bolts

# 39T T Srer g1
B) hfAea 3T
D) #c 3R sec Fa1 & fow

Your Response : A (Correct)

Question No. 50

GET IT ON
Google Play

Which of the following electrodes falls into the flat and horizontal welding position category?

A) E6010

C) E6012

B) E6011

D) E7024

$AH & *iT A1 FaaeIs, Fele 3N gRolea (FAde 3R &fafos) afese dehee & Jofr & amar

&7
A) E6010
C) E6012

Answer Key : D

18-4-1 High speed steel contains-
A) 4% carbon

C) 4% chromium

18-4-1 g% ¥z &l 7 g &-
A) 4% FISeT

B) E6011
D) E7024

Your Response : A (Wrong)

Question No. 51

B) 5% vanadium

D) 0.7% tungsten

B) 5% d=ifsTs
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C) 4% sIfAITH D) 0.7% EIFesT

Answer Key : C Your Response : C (Correct)

Question No. 52

In the relation VT™ = constant, the value of n for carbide tools is-
A) 0.1t00.2 B) 0.20to 0.25

C) 0.30t0 0.40 D) 0.40to 0.55

Ha VTN = constant (ReRi®) &, #1133 ¢ % fAT n & A v gar 872

A) 0.1 0.2 B) 0.20 & 0.25
C) 0.30 & 0.40 D) 0.40 & 0.55
Answer Key : B Your Response : B (Correct)

Question No. 53

The product El is known as-

(where E- Modulus of Elasticity and I= Moment of Inertia)

A) Section modulus B) Modulus of rupture
C) Flexural rigidity D) Polar modulus
3G, El F § H AT AT B

(STet E- weareyar A AR | = S5ed F 3mgo))

A) ¥ AR B) IwR AU
C) doh d«E HoRdr D) ¢dr AT
Answer Key : C Your Response : C (Correct)

Question No. 54

GET IT ON
Google Play

Which of the following processes in lathe produces a diamond shaped regular pattern on the

surface of a workpiece?

A) Chamfering B) Grooving
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C) Parting D) Knurling
AT F 597 ¥ Pl O ufshar, gFNT T Tdg W R F IR o1 FAfAd dest 3=
A) FFHReEr B) afder
C) urféar D) Afeldr
Answer Key : D Your Response : D (Correct)

Question No. 55

Gross head is the difference between-

A) Head race and net head B) Head race and tail race

C) Net head and friction losses D) Head race and friction losses

Itw ¥3 BT ST F 3R QT &2

A) 85 W 3R A g3 B) 85 W IR W

C) aic g3 3R fraee aiew D) &3 W 3R e e
Answer Key : B Your Response : D (Wrong)

Question No. 56

Bomb calorimeter is used to test the calorific value of-

A) Solid and liquid fuels B) Only solid fuels
C) Only liquid fuels D) Gaseous fuels
TH FedHET Fr 39T F FHART AT HT GAETOT = & faw BFar e gl
A) 3E 3R el suA B) had 319 Sue
C) Fdel Rol $UT D) T S
Answer Key : A Your Response : A (Correct)

Question No. 57

The only state at which the solid, liquid and vapour phases coexist in equilibrium is-

A) Critical point B) Triple point

GET IT ON
Google Play

FT &2
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C) Saturation point D) Superheated point
THATT aedT, faad 3, g 3R arsq =wor AERr 7 2§, Fgee gl
A) wifde fdg B) feuer fdig
C) wqfea fig D) e fig
Answer Key : B Your Response : B (Correct)

Question No. 58

The number of degrees of freedom of a planar linkage with 8 links and 9 simple revolute joints

is-
A) 1 B) 2
C) 3 D) 4

8 foieh 3N 9 W gAa ared Siige & A U Celoly folidhor T Tl AT $r ear g-

A) 1 B) 2
C) 3 D) 4
Answer Key : C Your Response : C (Correct)

Question No. 59

The kinetic energy of a body is stated to increase by 300 percent. The corresponding increase
in the momentum of the body will be-

A) 50 B) 100

C) 200 D) 300

Rz $r afasr T & 300 wferra F i A aarr 1w 31 Rz Hr afawmr F agfovws e

g
A) 50 B) 100
C) 200 D) 300
Answer Key : B Your Response : C (Wrong)

Question No. 60
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The viscosity of water at 20° C is-
A) 0.01 poise B) 1 poise

C) 10 poise D) 100 poise

20° C X 9l #r Ir=Iar fhder 872

A) 0.01 digH (poise) B) 1 disd (poise)
C) 10 drsH (poise) D) 100 9is® (poise)
Answer Key : A Your Response : A (Correct)

Question No. 61

GET IT ON
Google Play

When the relative motion between two elements is completely or successfully constrained, then

these two elements form a-
A) Mechanism B) Machine

C) Kinematic pair D) Kinematic chain

SI9 ar dedl & o @y Ander Afq QUi a1 heragas AT @ Sl g, o ¥ et a v

__ S 9

A) H*fasH B) il

C) Frsadfes oA D) rgidien J@elr
Answer Key : C Your Response : D (Wrong)

Question No. 62

Which of the following is NOT a non-destructive testing?
A) X-ray test B) Magnetic particle test

C) Dye penetrant test D) Nick break test

8 W FidT TT v IR-TFaAnncrms (AA-Breided) qdeor A8 872

A) X-faror qderor B) TFaehId o Geior
C) 315 YaAce adreor D) fas sio graor
Answer Key : D Your Response : D (Correct)
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Question No. 63

Ball bearings are generally made of-

A) Castiron B) Malleable cast iron
C) Carbon steel D) Chrome steel
dter FARET AR | fFad a1 BT 872
A) T gl (FC 3TAE) B) & &Hedr oigl
C) el EIeT D) %A el
Answer Key : D Your Response : D (Correct)

Question No. 64
Which of the following conditions is related to Clearance fit?
A) Hole > Shaft B) Hole < Shaft

C) Hole = Shaft D) All of the options

st & Fh @ o Rty e & wa &2

A) &g > e B) &g < are
C) g = o D) faedt & & sl
Answer Key : A Your Response : A (Correct)

Question No. 65

Which material has the best damping capacity?
A) High speed steel B) Stainless steel

C) Mild steel D) Castiron

FE Tl F GO 3T HgHET &THAT § ?

A) 3T T SEATT B) ool Tl
C) oA FEUId D) Fear ogr
Answer Key : D Your Response : D (Correct)

GET IT ON
Google Play
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Question No. 66

Which of the following devices is used to measure the rate of a flow of a fluid through a pipe?
A) Venturi meter B) Orifice meter

C) Anemometer D) Both Venturi meter and Orifice meter

faf@d F§ & FieT AT 3YOT T UIBY F AYH ¥ gd & Ya§ I T T AN F AU

39T R ST 82

A) 998 Hiex B) 3MRfhw #Hex

C) wehwher D) ¥f #Mex 3R INFRT #ex 2t
Answer Key : D Your Response : D (Correct)

Question No. 67

Maximum shear stress at any point in a thin cylinder of diameter (d) and thickness (t) subjected
to an internal fluid pressure (p) is given by-

A) pd/2t B) pd/4t

C) pd/st D) pd/6t

Al ga g (p) & IeheT = (d) AN ARE () I tF gda doa F R o g w

3fORaH 9w gfage(Maximum shear stress) &t EaRT YERia B e g1
A) pd/2t B) pd/4t
C) pd/8t D) pd/6t

Answer Key : C Your Response : C (Correct)

Question No. 68

Shot peening is a working process.

A) Hot B) Cold

C) Warm D) Very hot
el difAeT wh F gfshar gl

A) IR B) &3
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C) goohT A D)ag?rmfr

Answer Key : B Your Response : B (Correct)

Question No. 69

The processes of a Carnot cycle are-

A) Two adiabatic and two constant pressure  B) One constant volume, one constant

pressure and two isentropic

C) Two constant pressure and two isothermal D) Two isothermal and two isentropic

& FeAl IF F THA g gl

A) ar TgreA 3R g fades e B) Ts Fdieh 3ds Ush fAgdie & 3K ar
B IEE]
C) & Fradis g 3R & 3msaUdd (FAAE) D) & Isardd (Faa) iR & 3msdeafs
Answer Key : D Your Response : D (Correct)

Question No. 70

The ratio of isentropic work to Euler work in a centrifugal compressor is called-
A) Work coefficient B) Velocity coefficient

C) Pressure coefficient D) Flow coefficient

T FealqaRS FHE & JoR FE § AT FA & A FT AT FeT AT 67

A) & IOTH B) aqr F[ouTieh
C) &drd Julish D) waTg 3[uTich
Answer Key : C Your Response : C (Correct)

Question No. 71

are used for grinding large flat surfaces.
A) Ring or cylindrical wheels B) Flaring cup wheels

C) Dish wheels D) Cup wheels

T 39T 99 JUIE Wdel A e F AT fRar S g
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A) TEF AT TAAHR afgT B) welaRer &u ufgw
C) fser ufgw D) &9 dfed
Answer Key : D Your Response : A (Wrong)

Question No. 72
is the operation of machining two vertical surfaces of the work piece at a time.
A) End milling B) Side milling

C) Straddle milling D) Form milling

T AT # 9% 9 (work piece) & &t FeaeR dder i AMfAT &1 e gl

A) us fAfeer B) wrss faAfeer
C) ¥sa fAfder D) wie fAferr
Answer Key : C Your Response : C (Correct)

Question No. 73

Expressing a dimensionas 18.3]%, mm is the case of-

A) B)

Unilateral tolerance Bilateral tolerance

o] D)

Limiting dimensions All of the options
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18.37", et & =7 § ST 2 &eAm IR
A) B)
e et ATZACT 2l oo
(Unilateral tolerance) (Bilateral tolerance)
(o] D)
ferfafeT srderT S

(Limiting dimensions)

Answer Key : A Your Response : A (Correct)

Question No. 74

Fluorspar is mainly composed of-

A) Calcium fluoride B) Calcium sulphate
C) Calcium phosphate D) Calcium nitrate
FPIREIR 3 e g Bl
A) HTRIH F3RTSS B) hforr™d Tethe
C) oI withe D) Hfe# Asee
Answer Key : A Your Response : A (Correct)

Question No. 75

Motion of a square bar in a square hole is an example of-

A) Completely constrained motion B) Incompletely constrained motion
C) Successfully constrained motion D) All of the options
T JER B # & dler o3 & g, T 30T &l
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A) ot e aifa B) 3qul fawg afaq
C) #hadas foeg arfa D) @l fawea
Answer Key : A Your Response : A (Correct)

Question No. 76

Tripoli, a fine powdered porous rock used as a polishing abrasive for metalsmithing, is also

known as-
A) Pumice B) Rotten stone
C) Silicon carbide D) Lime

mﬂﬁﬁm?ﬂm(porous)w%,ﬁwmﬁmwﬁmm

& ¥ 7 forar S 8, S & §T F ST S B
A) Ziar (Pumice) B) e U2’ (Rotten stone)
C) fafesrsT &8s (Silicon carbide) D) == (Lime)

Answer Key : B Your Response : C (Wrong)

Question No. 77

Maximum shear stress in a beam of rectangular cross-section is times the average
shear stress.

A) 1.25 B) 1.50

C) 1.75 D) 2.00

HIAHR I FIC alell Tk A F HAFAH 39907 Fidael(Maximum shear stress), 3w

HOEqOT ST F I e B
A) 1.25 B) 1.50
C) 1.75 D) 2.00
Answer Key : B Your Response : B (Correct)

Question No. 78

In actual machines, which of the following is CORRECT?

A) Mechanical advantage is equal to velocity B) Mechanical advantage is greater than
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ratio velocity ratio

C) Mechanical advantage is less than D) Mechanical advantage is unity

velocity ratio

GET IT ON
Google Play

Irae 7Rt A Pefaf@d # = wd 87
A) JiTIE oTe, AT 3T & SR Iem & B) wif¥e @met, de1 3T ¥ F gir §
C) aifyw e, 39T I ¥ FA A § D) ity st v ¥

Answer Key : C Your Response : C (Correct)

Question No. 79

Impulse can be obtained from the-

A) Velocity-time diagram B) Force-displacement diagram
C) Velocity-dispalcement diagram D) Force-time diagram
3T ¥ ured RBFar ST wFar B
A) AT-FAT NG B) So-fawurdsT 3R@
C) J9-faFu™s 3myE D) ¥o-88F 3IRG
Answer Key : D Your Response : D (Correct)

Question No. 80
In which type of welding joint 70% to 80% of all joints are made by arc welding?
A) Lap welding joint B) Fillet welding joint

C) Edge welding joint D) Tee welding joint

e g & Afese 7 Wit st & 70% ¥ 80% SIS 3 AfCS ganr &= g 87

A) og afege S B) el afeser Sl
C) usr afeser S D) & afese s
Answer Key : B Your Response : A (Wrong)

Question No. 81
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Which type of chisel is used for special work such as forming flutes and channels?
A) Flat chisel B) Cross-cut or cape chisel

C) Round-nose or half-round chisel D) Diamond pointed chisel

e yFR fr Reer F 37aer AT FF A Foed IR A9 g F v Bar Sar g ?

A) wele faster B) %I &c AT F9 IsTel
C) U3s-alsT AT gMh-1138 faster D) 3#Hs 4dises st
Answer Key : C Your Response : B (Wrong)

Question No. 82
Oxygen-acetylene combination produces the highest temperature of around-
A) 2200°C B) 2700° C

C) 3200°C D) 4800° C

JTFNST-vRARRNT FI FAST IBRET Fhder ITadd dI9ATT 3c9e FLaT 872

A) 2200°C B) 2700°C
C) 3200°C D) 4800°C
Answer Key : C Your Response : C (Correct)

Question No. 83

Group technology organizes-

A) Common parts, problems and tasks B) Automation and tool production

C) Documentation and analysis D) Parts and simulation analysis

qq Tt sHafeyd Fr g

A) AT Uy, gAEAT AR AURa s B) ¥aelel 3 Tol 3cureet

C) gFaradsiisur AR fageryor D) uréH 3R Faegerre favavor
Answer Key : A Your Response : A (Correct)

Question No. 84
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The ratio of specific heat at constant pressure to the specific heat at constant volume for argon

and helium is-
A) 1.11 B) 1.3
C) 14 D) 1.667

I AR AfowH & v Ayas g W (e T #1 [ade 3aaT | R(Rkse Fwar @

IqaT g gl
A) 1.11 B) 1.3
C) 14 D) 1.667
Answer Key : D Your Response : D (Correct)

Question No. 85

flow is defined as that type of flow in which the velocity at any given time does not
change with respect to space.

A) Uniform B) Non-uniform

C) Steady D) Unsteady

varg r gReRT fFar Sar § B a8 W varg & S R ofr wa 9T e 3iaRer &
Haer F 7€t acerar 2l

A) gAT 9T B) 3 HA
C) R D) 3R
Answer Key : A Your Response : A (Correct)

Question No. 86

A stream function is given by @ = 2xy. The magnitude of velocity at (3, 4) is-
A) 2 B) 5

C) 10 D) 24

e URT (EH) Belel @ = 2xy EaRT YGRia fFar s/ m §1 (3,4) W d9r1 Fr aR&AT0T =1 gem?

A) 2 B) 5
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c) 10 D) 24

Answer Key : C Your Response : C (Correct)

Question No. 87

A Johansson Mikrokator is a mechanical comparator used to obtain of the
difference in length as compared to a standard.

A) Magnification B) Flatness

C) Angle D) Roundness

T Sgedd ARt U AFfAde Feqel § TR 39T AF F HFEA G A AW

uoT 6 F v BFRar S g
A) 3 B) F&AdeIdT
C) @roT D) Mers
Answer Key : A Your Response : A (Correct)

Question No. 88
The ratio of the inertia force to the pressure force is known as-
A) Reynold's number B) Froude's number

C) Weber's number D) Euler's number

SI3cd ael(inertia force) 3R 1T I FT AT FIAT Fgellcl 87

A) &Tes FEam B) I3 dEAT
C) s we&r D) e HEAT
Answer Key : D Your Response : D (Correct)

Question No. 89

The ideal gas-refrigeration cycle is similar to the-
A) Rankine cycle B) Reversed Brayton cycle

C) Dual cycle D) Stirling cycle
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e FFRiaT g% _ & §A §-
A) YheT T B) Ra¥ st T
C) aT I% D) ¥l @
Answer Key : B Your Response : B (Correct)

Question No. 90

Loss of head at Exit of pipe is calculated by-

A) B)
03752 0.5
2g 2g
) D)
2 ,2
0252 r
2g 2g

ﬂng(W W 28 F FHA H AUEA FEES GERT H

A) B)

2
g
v

v

0.375

o] D)
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0q

Answer Key : D Your Response : D (Correct)

Question No. 91

Which of the following operations is done by multi tooth cutter?
A) Milling B) Broaching

C) Facing D) Both Milling and broaching

AL T e GaRT o931 | et AT et fmam sirer 872

A) fafeer B) sifzfer
C) &g D) fafeler 3 sifier ar=t
Answer Key : D Your Response : D (Correct)

Question No. 92

A Francis turbine is an-

A) Inward flow reaction turbine B) Inward flow impulse turbine

C) Outward flow reaction turbine D) Outward flow impulse turbine

T Wil EB &-

A) HaF gdarg RAFAA &S B) 37d% Ydlg $FUcd calse

C) ared yarg RAwere cxarse D) SEd Yalg $FJeH calgel
Answer Key : A Your Response : A (Correct)

Question No. 93
In planetary motion-

A) The total angular momentum remains B) The total linear momentum remains

constant constant
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C) The total linear momentum is zero D) The total angular momentum is zero

el Fe (@ ) #-

A) Fel HIoNg a1 EUX @ Bl B) &l Y& FHaer R @ B
C) T A T =T &elr B D) F FHIUMT T LT BIer
Answer Key : A Your Response : A (Correct)

Question No. 94

In a general compression process, 1 kdJ of mechanical work is supplied to 2 kg of fluid and 400
J of heat is rejected to the cooling jacket. The change in specific internal energy would be-

A) 700J B) 350J

C) 300J D) 600J

T AT TdseT 9ishar &, 2 fFalened gg W 1 kJ Fifds FR7 3R fmar siar & 3k 400 J
FeAT fAshf@d @i Ffdr Sbe & el Sl &1 O AR saRs s F @ arer 9Rade

EICICIC
A) 700 J B) 350 J
C) 300 J D) 600 J
Answer Key : C Your Response : A (Wrong)

Question No. 95

A block resting on an inclined plane begins to slide down the plane. If the angle of inclination is
gradually increased to 30 degrees, then the coefficient of friction between the block and the

plane is-
A) 0.5 B) 0.577
C) 0.72 D) 0.866

ST T FAGS W AT raeyr arem saled FAde § AT fr 3R @ywar g& = &ar ¢ 5«
gHEa & HIOT H G- 30 B G germ Irar B, o AR selid AAT & T Foador F
IoTiH & SR

-]

A) 05 B) 0.577
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C) 0.72 D) 0.866

Answer Key : B Your Response : B (Correct)

Question No. 96

If there is no melting of the edges of the base metal at the root face or on the side face or
between the weld runs, then it is -

A) Lack of penetration B) Lack of fusion
C) Burn through D) Excessive penetration
IfE € $F AT 55 B W AT 365 & & d1T 99 Aed & fhar o e, ar I8 grar
gl
A) HesT FH HATT B) Toldel & AT
C) & g D) 3rcaftre siga
Answer Key : B Your Response : B (Correct)

Question No. 97

Plug welded joints are used-

A) To join two pieces of metal in the same B) To join a circular metal with a flat job

manner as riveted joint metals

C) For jobs carrying shear stress D) For jobs of dissimilar materials

T Ae33 SASCH H 3YANT $EF fav Far ST &

A) aigst B R ¥ e F @A adF ¥ B) TF I uig B A9 S F s F faw
oTq & &l ghT Pl ST

C) 3uwuur yfaee arer Siig & fow D) @A AT arer S & fav

Answer Key : A Your Response : A (Correct)

Question No. 98

Which philosophy eliminates sources of manufacturing waste by producing the right part in the
right place at the right time?

A) ERP B) JIT
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C) TPM D) CIM

GET IT ON
Google Play

Fi O Rgid, T8 7T R, T TIF W, &' 9 F AAT0r %, _AfAATr 3/9f¥se & g@iar #r

TATCT AT &7
A) ERP B) JIT
C) TPM D) CIM
Answer Key : B Your Response : C (Wrong)

Question No. 99

Monel metal is-

A) Aluminium copper alloy B) Aluminium silver alloy

C) Copper Nickel alloy D) Chromium Molybdenum alloy

AleTel €1 T 872

A) AT wOR A arg B) 3qfAfaas o Ay eng

C) &R fasher fasr erg D) sIfAIH Arfdssan A erg
Answer Key : C Your Response : C (Correct)

Question No. 100

The isothermal bulk modulus of a perfect gas at atmospheric pressure is-
A) 1.013 x 10° N/m? B) 1.013 x 108 N/m?

C) 1.013 x 1010 N/m? D) 1.013 x 10" N/m?

AGHSNT Sa1g F e A F IFSHYHT Foh AiH ke gar &2

A) 1.013 x 105 N/m?2 B) 1.013 x 106 N/m2
C) 1.013 x 1010 N/m2 D) 1.013 x 10" N/m2
Answer Key : A Your Response : A (Correct)

Question No. 101

Which of the following is NOT a prime requirement of tool material?
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A) It should have good machinability B) It should have low melting point

C) It should have low erosion rate D) None of the options

frafaf@a & & @l @ sgaor awEl (o MRIw) A wF W@ IraeEwar 7@ 82

A) zEH ST AT g arfgul B) HH HH el gleAT dATRU|
C) ST 3TERUT ¥ &I A ge ARTI D) 3 & #I§ T
Answer Key : B Your Response : A (Wrong)

Question No. 102

A Scott-Russell mechanism consists of-

A) Turning pair only B) Rotary pair only

C) Sliding and turning pairs D) Turning and rotary pairs

T THICTHA HAehfalor T T giem ¢l

A) FHael cleler TTRT B) @hael e I3

C) Fomsfser 3R efefer oy D) efefer 3 el du
Answer Key : C Your Response : A (Wrong)

Question No. 103

The machining time to face a job of 60 mm diameter and rotating at 80 RPM with a feed of 0.3

mm/rev is-
A) 2.5 minutes B) 1.25 minutes
C) 2 minutes D) 5 minutes

60 A U ¥ ST F T FA & AU 7MNHT TAT F1 @90 S9 a8 0.3 mmirev F AE F
T 80 RPM W g3Het aTel §-

A) 25 e B) 1.25 Aee
C) 2 AeTe D) 5 AT
Answer Key : B Your Response : B (Correct)

Question No. 104
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A single point tool specified as 8-14-6-6-6-15-4 has a back rake angle of-
A) 8° B) 14°

C) 6° D) 15°

8-14-6-6-6-15-4 & 7 # fafdse fAerer Wige IU=I0T (Co) &7 S Y& Warer Frctarm gher 872

A) 8° B) 14°
C) 6° D) 15°
Answer Key : A Your Response : A (Correct)

Question No. 105

What is the nature of distribution of shear stress in a rectangular beam?
A) Linear B) Parabolic

C) Hyperbolic D) Elliptic

HAAHR A F IHIFI0T Jfasel (shear stress) & fAawor Hr wepfa Fr 82

A) @® B) Rmeifors
C) ETRWeIfe® D) &reigeca
Answer Key : B Your Response : B (Correct)

Question No. 106

Poisson's ratio for aluminium ranges between-

A) 0.23-0.25 B) 0.25-0.26
C) 0.31-0.34 D) 0.27-0.30
TogAfaA & fAT cardl T 3egard(Poisson's ratio) F & gemi
A) 0.23 - 0.25 B) 0.25 - 0.26
C) 0.31 - 0.34 D) 0.27 - 0.30
Answer Key : C Your Response : C (Correct)

Question No. 107
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Hyper eutectoid steels have structure of-

A) Pearlite alone B) Phases of ferrite and pearlite

C) Phases of cementite and pearlite D) Phases of ferrite and cementite

R Feeies W A T  w el ¥l

A) Fad gdse B) Wsc 3R gdise Hr raeamsit

C) drferse 3R gdise &r aemsit D) Wse 3R diFcrse & 3raeansit
Answer Key : C Your Response : C (Correct)

Question No. 108

In gas welding, the inclination of the blow pipe with respect to the plate in Leftward welding is-

A) 30° to 40° B) 40°to 50°
C) 60°to 70° D) 90° to 100°
3w afeser &, a1$ 3R TS & voe & Wy F s UBY F A g 7l
A) 30° & 40° B) 40° & 50°
C) 60° & 70° D) 90° & 100°
Answer Key : C Your Response : C (Correct)

Question No. 109

The steam capacity of Cochran boiler is-
A) 2000 kg/hr B) 3000 kg/hr

C) 4000 kg/hr D) 5000 kg/hr

PR SR T ST &HAT §-

A) 2000 fearr / =er B) 3000 f&arm / ger
C) 4000 fharm / =er D) 5000 f&harm / =er
Answer Key : B Your Response : A (Wrong)

Question No. 110
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In a 32A 49 H 8 V BE grinding wheel, the grit size is represented by-

A) 32A B) 49
C)V D) BE
32A 49 H 8 V BE #iEfSer e #, fiie amar ¥ =TT Al &
A) 32A B) 49
C) VvV D) BE
Answer Key : B Your Response : B (Correct)

Question No. 111

The number of instantaneous centres for a four bar chain mechanism would be-
A) 2 B) 3

C) 4 D) 6

IR IR 48T a7 & v acwfes &6t & g gel-

A) 2 B) 3
C) 4 D) 6
Answer Key : D Your Response : D (Correct)

Question No. 112

The surface speed of regulating wheel in case of centreless grinding is-

A) 15-75 m/min B) 100-500 m/min

C) 500-800 m/min D) 1000-1500 m/min

ST AR A, WYART e B wr T Bl 31

A) 15-75 #Hi/fAfAe B) 100-500 #H/fAfac

C) 500-800 #Hi/fAfac D) 1000-1500 #/fAfae
Answer Key : A Your Response : A (Correct)

Question No. 113

Page - 86


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

The coordination number of FCC crystal structure is-
A) 4 B) 8

C) 12 D) 16

FCC forEce TG &l GH-aT TE&AT FAT 2!

A) 4 B) 8
C) 12 D) 16
Answer Key : C Your Response : C (Correct)

Question No. 114

The drill RPM for drilling a hole of 256 mm diameter in a 15-mm thick plate with a cutting speed

of 25 m/min is-
A) 318.4 RPM B) 424.6 RPM
C) 636.8 RPM D) 232.6 RPM

25 s / @Aee fr Fda afa § 15 B A e & 25 B I 7 By B o & @Aw

eRF B RPM gl
A) 318.4 RPM B) 424.6 RPM
C) 636.8 RPM D) 232.6 RPM
Answer Key : A Your Response : A (Correct)

Question No. 115

Martensite forms during quenching, when the face centered cubic lattice of austenite is

distorted into the structure.

A) Body-Centered Tetragonal B) Face-Centered Cubic

C) Hexagonal Close Packed D) Rhombohedral Crystal

99 diEease ¥ v des FfaF dfew @ W 7 fawla frar s 8, a9
Fafder & SN AéAEe S B

A) SE-des Teriee B) ®u-des Fgfas
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C) gFEmNeTel FeiteT das D) Uraiesd fheed

Answer Key : A Your Response : A (Correct)

Question No. 116

Which of the following is NOT considered as minor head losses, when the fluid is flowing

through a pipe?
A) Loss of head due to friction B) Loss of head due to sudden enlargement
C) Loss of head due to sudden contraction D) Loss of head at the exit of pipe

ST 5F T U & 9F T @ o et F & By AN ¥ R & T & gt AT ST §?

A) G9UT & FHROT g5 HT bl B) 3l §¢4 & FRUT g5 HT ARl
C) 3rdleish FEdel & FRUT §3 T Jhdled D) UisY & T W g5 T e
Answer Key : A Your Response : A (Correct)

Question No. 117

Sensitiveness of governoris given by-

A) B)
N, + N, N, - N,
N N
o) D)
N N
N,-N, N +N,
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foraTHs & gacaeiear $u far sar 2
A) B)
N: + Nl Nz - N1
N N
C) D)
N N
N,-N, N, +N,
Answer Key : B Your Response : B (Correct)

Question No. 118

Which of the following mechanisms produces an exact straight line motion?
A) Watt mechanism B) Grasshopper mechanism

C) Peaucellier's mechanism D) Tchebichiff mechanism

fAmfaf@a #§ ¥ g TR F (mechanism) & & (straight) ¥ afd 39T 8 &2
faafaf@a # ¥ fFw F3fd=ama & (mechanism) T e W a1fa 3cqe=T el 82

A) dre I (Watt mechanism) B) ITHER Fafa=ara (Grasshopper
mechanism)
C) Wilkfeay  FA@=ar@ (Peaucellier's D) Afafa® REICEE s (Tchebichiff
mechanism) mechanism)
Answer Key : C Your Response : C (Correct)

Question No. 119

The standard angle between the sides of a V belt is-

A) 25° B) 90°
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C) 40° D) 45°
V So€ & SIS & @I 1 AF HI0T 8-

A) 25° B) 90°
C) 40° D) 45°

Answer Key : C

Your Response : C (Correct)

Question No. 120

Addendum of a gear is equal to-

A) Pitch B) 0.3p
C) 0.3183p D) 0.3683 p
RR &7 vdsH, F T @ B

A) = B) 0.3 p
C) 0.3183 p D) 0.3683 p

Answer Key : C

Your Response : C (Correct)
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Question No. 1

Metals are good conductors of heat because they-

A) Contain a glut of free electrons B) Contain very few free electrons

C) Have high density D) Atoms-are relatively far apart

Q¢ FEAT T BT FaTolh gic & FiToh-

A) F FFA FolaClell HT T HAR il & B) S99 FT Fd FoiacleT B ©

C) 3Td U<icd 8T § D) TRAUI-3MUETHd g 8l &

Answer Key : A Your Response : A (Correct)

Question No. 2

A four-stroke petrol engine theoretically operates on the-

A) Otto cycle B) Brayton cycle
C) Joule cycle D) Bell Coleman cycle
4T Y9 o Agifas &7 & W HIfer g &l
A) 3T T% B) sicel T
C) Sfef I D) Sof SierdeT Tsh
Answer Key : A Your Response : A (Correct)

Question No. 3
The sensitivity accuracy of an instrument depends on-
A) Frequency response B) Amplitude distortion

C) Temperature variations D) Hysteresis

GET IT ON
Google Play
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R 39oT T AT AT 9 AR T 1

A) 3mgfca Red=q B) 3RH (TFTelcys) fawdor
C) agAT aikade D) fReeRfaw
Answer Key : C Your Response : B (Wrong)

Question No. 4
If two links are joined at the same connection, then the joint is known as the-
A) Binary joint B) Ternary joint

C) Planar joint D) Quaternary joint

i T & HauT W Y Tl S5 § oY 9 SIS Fq S Sier 8?2

A) ST B B) &N S
C) TleR Sl D) Far=ir S1g
Answer Key : A Your Response : A (Correct)

Question No. 5
Which of the following is a low copper alloy?
A) White metal B) Muntz metal

C) Bronze D) German silver

fafaf@a F & =l @ e diegFT By g 82

A) @d a1g B) Hesr urg
C) drda D) S ffeR
Answer Key : A Your Response : A (Correct)

Question No. 6

The strain energy stored in a body due to direct stress is-

[where f = stress, E = Young's modulus, V = Volume]

C) D) (2f/E)xV
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(f2/2E) x V

YcI8T oelld & FROT R F AT g arell delld Far (strain energy) %-
[STeT f = stress, E = Young's modulus, V = Volume]

A) (fl2E) x V B) (f2E) x V
C) (f212E) x V D) (2f/E) x V
Answer Key : C Your Response : A (Wrong)

Question No. 7

A cantilever beam is one which-

A) Fixed at both ends B) Fixed at one end and free at other end
C) Supported at its ends D) Supported on more than two supports
T HieeaR &I 98 § -
A) g RRT ¥ R g & B) T BR W &R 3R g R W T@da
g &
C) 39 ARG X gAfda & D) ar ¥ 3 §Hdd W §Aflia §
Answer Key : B Your Response : B (Correct)

Question No. 8
Mechanism which has more than four links is-
A) Compound mechanism B) Planar mechanism

C) Spatial mechanism D) Simple mechanism

g% a7, o 9x & 3% fiF Y & =T garar 87

A) ®ZFd o (Compound mechanism) B) Telek dF (Planar mechanism)
C) ¥TuIfsieh dF (Spatial mechanism) D) IYRUT dF (Simple mechanism)
Answer Key : A Your Response : C (Wrong)

Question No. 9
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The difference between the actual discharge and theoretical discharge is called-

A) Slip B) Negative slip
C) Coefficient of discharge D) Work done
e a9 3R dgifas a9 & fig & A F __ FEr S gl
A) TeoT B) ARicH® Foq
C) f3&arst @1 Iotieh D) fRar s=r s
Answer Key : B Your Response : C (Wrong)

Question No. 10

Which of the following laws states that the shear stress between adjacent fluid layers is
proportional to the velocity gradients between the two layers?

A) Archimedes principle B) Newton's law of viscosity

C) Stoke's law D) Pascal's law

ARRT F @ Sl a1 FH I8 Taar § F g9 A T Wat & &1 JIRY0T GiAEd, Qer
Wl & & 39T Jauranst & AW giar 87

A) fRASS # 1 Rgia B) e & AT s
C) ¥ & faa#d D) U&hel &l g
Answer Key : B Your Response : B (Correct)

Question No. 11

The increase in carbon content in steel decreases its-
A) Ductility B) Tensile strength

C) Hardness D) All of the options

ST ¥ FIeeT $Y AGT F Y T W FHR 7 Flr gl B

A) TeTerefierar (ductility) B) dsieT @2 (Tensile strength)
C) &oRdr D) fasredl & & @l
Answer Key : A Your Response : A (Correct)
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Question No. 12

Toughness of a material increases, when increases.
A) Strength B) Fatigue resistance
C) Stress relieving D) Machinability
el garef T gegar Tedr &, 9 T 7l
A) T B) wérr oe=q
C) ¥¢u Reifder D) #AM=faferdr
Answer Key : A Your Response : B (Wrong)

Question No. 13

Gears are casted by-

A) Permanent mould casting B) Slush casting
C) Centrifugal casting D) All of the options
R $r zorg Fa fRAfr & $r sl 82
A) TRt @ # Tas (Permanent mould B) ToTr &Hriecdr
casting)
C) 3T eolls D) s1# & @l
Answer Key : A Your Response : A (Correct)

Question No. 14

What is the full form of MPS in manufacturing?
A) Master Production Schedule B) Manufacturing Production Section

C) Minimum Production Schedule D) Maximum Production Section

fafastor & MPS & qot 7 =T 37?

A) AR Wswe fA8gel (Master Production B) #HegtheraRar Wiserei Al (Manufacturing
Schedule) Production Section)

C) AfdmA WS RIgger  (Minimum D) #AfFaaAd  disRRe R (Maximum
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Production Schedule) Production Section)

Answer Key : A Your Response : D (Wrong)

Question No. 15

is the product of mass and velocity.

A) Acceleration B) Velocity
C) Linear Momentum D) Displacement
___, 5ogAE 3R 99 T IOEHA ¢
A) caor B) ar
C) fEx =ifa D) fawamge
Answer Key : C Your Response : C (Correct)

Question No. 16
Ash content of a diesel fuel oil should NOT exceed-
A) 1% B) 0.50%

C) 0.10% D) 0.01%

STl $YT oel @ U Hhée U S 8T Qe AIRT-

A) 1% B) 0.50%
C) 0.10% D) 0.01%
Answer Key : D Your Response : B (Wrong)

Question No. 17

Austempering is also known as-

A) Isothermal annealing B) Isothermal quenching
C) Stepped quenching D) Interrupted quenching
JireeFaReT #r fr Fgr e gl

A) EEYAST TAIfIT B) 3msaruse Fdfaer
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C) ¥vs Fdfder D) gcwes Fdfer

Answer Key : B Your Response : C (Wrong)

Question No. 18

For blanking operation, the shear is provided on the-

A) Die B) Punch
C) Half on the die and half on the punch D) Die or punch depending on the material
thickness
SolfeshdT HaTeeT F AT, RB3R W ve B S gl
A) 3% B) U
C) 3mr 318 WX 3R 3mer 99 D) draft &7 Al & YR W 3% AT 99 |
Answer Key : A Your Response : A (Correct)

Question No. 19

Diesel cycle consists of the processes-
A) Two adiabatics and two isothermal B) Two constant volume and two isothermal

C) Two isentropics, one constant pressure D) Two isothermal and two constant pressure
and one constant volume

Stel Wh A e A qfthare anfAer gl 872

A) ar FgrsA 3R e gHEamdy B) ar fFer 3madsr 3R ar gFamdT
C) ar 3msdcifUad, T fRay card 3R Us D) ar gHadamr 3R ar RBer 3maas
TR 3maast
Answer Key : C Your Response : C (Correct)

Question No. 20
Which of the following laws of thermodynamics deals with entropy?
A) Zeroth law B) Firstlaw

C) Second law D) Both zeroth law and first law
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FSARIIaSI(thermodynamics) FT 573 & ®id &1 FgH e & Haftd 872

A) Fgar I B) ugel g#
C) gavr fgA D) =adi(zeroth) ia# R ggell & gt
Answer Key : C Your Response : C (Correct)

Question No. 21

What is the colour code of pure tungsten tips?
A) Yellow B) Green

C) Red D) Brown

Y€ SR feq #ir T ASET (colour code) HAT §?

A) drer B) &I
C) ofrer D) o
Answer Key : B Your Response : B (Correct)

Question No. 22

Which of the following is also used for marking right angles and measuring straightness of

surfaces?
A) Chisel B) Centre punch
C) Steelrule D) Try square

farT & ¥ frgar 39T FAEST @ Rffaa F = 3R Jaqg i Eeaw (straightness) AT STar

3'?
INBESEH B) #HeX U™
C) & &l D) g8 TR
Answer Key : D Your Response : D (Correct)

Question No. 23

The commonly used flux in brazing is-

A) Borax B) Rosin
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C) Lead sulphide D) Zinc chloride

STeleT & AAGIA: TgFT Tl el AT 82

A) IRFH B) S
C) oI Hohss D) fSi% FeR1ss
Answer Key : A Your Response : D (Wrong)

Question No. 24

Which of the following material has the maximum carbon content?
A) Castiron B) Brass

C) Mild steel D) Stainless steel

8 O P9 9er & Fea el g9 3t g 82

A) &FEC HARRA B) dider
C) #g s&aid D) EeTold Il
Answer Key : A Your Response : A (Correct)

Question No. 25
Which of the following is a multispot welding process?
A) Seam welding B) Percussion welding

C) Projection welding D) Thermit welding

5T ¥ leT W U Accruie dfeser ufshar 872

A) @# afesar B) e afesar
C) wroterersT afeser D) uffe afeger
Answer Key : C Your Response : C (Correct)

Question No. 26

In grinding, which of the following numbers represents the very open structure?

A) 1 B) 5
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C 9 D) 16

mﬁ,mﬁ#mﬁma@qﬁm@pen structure) &r g2 &7

A) 1 B) 5
C) 9 D) 16
Answer Key : D Your Response : D (Correct)

Question No. 27
The apparent weight of a man in a lift is less than the real weight when the lift is going down-
A) Freely B) Under the force of gravity

C) With some constant velocity D) With some acceleration

fAFe F A &1 WHRN TS (apparent weight) aR<fa® aoiel & &H @ar &, I9 fowe

MY #r 3R o @ A
A) TEEAT ¥ B) IRcarsh¥ul §of & cEd
C) o PR a1 & @y D) $& T & AT
Answer Key : D Your Response : B (Wrong)

Question No. 28

Which of the following branches deals with forces and their effects acting upon the machine

parts in motion?
A) Kinematics B) Energetics

C) Dynamics D) Statics

ffaf@a # T i o amaEr afdehs 7AET At W SRR T6t 3R 3a9F gemEt ¥ g6tT &2

A) <rgarfashr B) UsSicIHH
C) aifa faamer D) ®&&FH
Answer Key : C Your Response : C (Correct)

Question No. 29

Ideal fluid is one which has no-
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A) Viscosity B) Surface tension

C) Both viscosity and surface tension D) None of the options

e @ e ag g g o e @l

A) 1T B) 9s& delra

C) ¥IeIal AR gs& Telrd aleit D) s & @IS AT
Answer Key : C Your Response : D (Wrong)

Question No. 30

Viscosity is a measure of resistance to-

A) Flow B) Light
C) Sound D) Current
T, & SR T A9 § |
A) Tl (9918) B) 9rr
C) «afar D) &c
Answer Key : A Your Response : A (Correct)

Question No. 31

Which of the following is a lower pair?

A) Piston and cylinder B) Cam and follower
C) Beltdrive D) Gear
et 3 ¥ FT 3T BT o &2
A) fOFea 3R Rest B) &# 3R Wial3R
C) dec¢ gieq D) R
Answer Key : A Your Response : A (Correct)

Question No. 32

Weld spatter is a type of-
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A) Welding electrode B) Welding stick
C) Goggles D) Welding defect
¥es HiX WF TER F gl
A) afess soaas B) afessr Rew
C) uH D) afeger v
Answer Key : D Your Response : D (Correct)

Question No. 33

are the devices used to measure the force through indirect methods.

A) LVDT B) Load cell

C) Flow meter D) RTD

T 3IUSROT &, ToeTaT 39T 3vcgeT {AfREr ¥ g & AT & AT Far smar 81

A) LVDT B) olis dcl
C) Tl #Hrex D) RTD
Answer Key : B Your Response : B (Correct)

Question No. 34
Which of the following materials is used as an abrasive in grinding wheel?
A) Aluminium oxide B) Silicon carbide

C) Cubic Boron Nitride D) All of the options

Afef@a # & F9 gl F1 9T JEfE e F 3veds & §7 F Ry Sar 82

A) vegAfaTs Hiedass B) fafosla #ess
C) e &RIe Als¢rss D) fawedr & & el
Answer Key : D Your Response : D (Correct)

Question No. 35

The specific energy E corresponding to the critical depth y, has the value-
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A) E=0.8Yy, B) E=1.25y,

C) E=1.5y, D) E=2y,

FifaF TEE y. & Gioad ARISE Fsit E & AT fhde alar &2

A) E =0.8 y. B) E =125y,
C) E=15y, D) E=2y,
Answer Key : C Your Response : C (Correct)

Question No. 36

For a maximum horizontal range, the angle of projection of a projectile should be-

A) 30° B) 45°
C) 60° D) 75°
FftFas dfds ww F faw, gerer F1 w& ot e TIfRT
A) 30° B) 45°
C) 60° D) 75°
Answer Key : B Your Response : B (Correct)

Question No. 37
Which of the following losses is NOT a minor loss for a fluid flowing through a pipe?
A) Loss due to sudden contraction B) Loss due to sudden enlargement

C) Loss due to obstruction in flow D) Loss due to friction

ot F & Fle & @1, IBT & g e ga varE F AT ey g JE 87

A) 3Tl HHde & HROT 3chea glfel B) 3MdTdA% YER & $HRUT 3ceal gy
C) 9alg # HaY & HRUT 3cTeo] gl D) =YUT & $RUT 3c9eal glfeT
Answer Key : D Your Response : D (Correct)

Question No. 38
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Y alloy is a nickel-containing _______ alloy.
A) Aluminium B) Copper
C) Brass D) Bronze
Y s arg v e g s g &
A) vegAfaTa B) dreT
C) diaer D) &g
Answer Key : A Your Response : A (Correct)

Question No. 39

In spark erosion machining process, gap between tool and workpiece is filled with-

A) A photo etchant B) Brine solution
C) Acid solution D) A liquid dielectric
TF &RoT AN ufF #, g IR FIw F I F R T A @R s S
gl
A) Wil 8RS B) wauiiy faerdet
C) 3%l faorast D) oRel Wrdegd
Answer Key : D Your Response : D (Correct)

Question No. 40

What is the condition of equilibrium of a body if the Resultant 'R' of a system of concurrent
forces is zero?

A) XX =0only B) >y=0only

C) >X=0o0r3y=0 D) >X=0and>y=0

I woac q&t & v AF & aRomeh R e € o Rz & Ao fr Rufa = gef?

A) X = 0 hdedl B) Sy = 0 &hdal
C) >X=0o0r3 =0 D) > X =0and Yy =0
Answer Key : D Your Response : D (Correct)
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Question No. 41
The specific speed of a hydraulic turbine depends upon the-
A) Power developed B) Discharge and power developed

C) Head of water D) Power developed and head of water

TR aEa fr Aflse 71fY 39 W AR = §-

A) Tasfad greX (afed) B) fades ik fasfda arav (afeFa)
C) arexX (ST &3 D) fawfaa R (ufFd) 3R arex &8
Answer Key : D Your Response : D (Correct)

Question No. 42

Rake angles can be-

A) Zero B) Positive
C) Negative D) All of the options
& 0T g ahd §
A) =T B) &TcHS
C) HUlicH® D) @t faeed
Answer Key : D Your Response : D (Correct)

Question No. 43

Moment of inertia of a triangular section of base (b) and height (h) about an axis passing
through its centre of gravity and parallel to the base is-

A) bhd/4 B) bh3/8
C) bh3/12 D) bh3/36

MR (b) 3R 541§ (h) a1 UF PAYSFR AR F, 58S HUR F FACK AR $0F oca Fg
¥ IO el e W STScd LT AT hifere?

A) bh3/4 B) bh3/8
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C) bh3/12 D) bh3/36

Answer Key : D Your Response : D (Correct)

Question No. 44

Which of the following is NOT a boiler accessory?
A) Air preheater B) Economiser

C) Super heater D) Fusible plug

fArfaf@d & @ Fi7 & v Sige] Tadad 78 &7

A) TR WX B) SHIAIATSSR
C) W gX D) wgfoisel TordT
Answer Key : D Your Response : D (Correct)

Question No. 45

A piezoelectric crystal can be used to measure-
A) Mass B) Velocity

C) Acceleration D) Flow

__ #A9ar & v deisafaes e 39A9r fFar ST 9hdr g1

A) S<TATT B) Qdr
C) caxur D) vdrg
Answer Key : C Your Response : D (Wrong)

Question No. 46

The atmospheric pressure at sea level is-

C) 760 mm of mercury D) All of the options
g W agHST g fahce giar 872
A) 101.325 kN/m?2 B) 10.3 #eX el & &1 & s_I)
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C) 760 fA#Y 9} & & & SR D) fasedl & & sl

Answer Key : D Your Response : D (Correct)

Question No. 47
Which of the following is/are an assumption(s) made in the theory of Simple Bending?

A) The material of the beam that is subjected B) The effect of shear stresses is neglected
to bending is homogenous

C) The beams have a symmetrical cross- D) All of the options
section and they are subjected to bending
only in the plane of symmetry

W gt F Agia d & 75 aron) fafaf@a & & #la @ 382

A) S FT ugryy S §f$T & 3l §, TEET B) NURYUT S H YHG 39TAT g &
glaT &

C) &1 & Us HATAT ey Hie gian ¢ 3R D) o8 & @l
d FHagd JHARIAT & Told H df$r & 3refiaT
g &

Answer Key : D Your Response : D (Correct)

Question No. 48

The phenomenon of weld decay is found in-

A) Castiron B) Stainless steel
C) Brass D) Bronze
do3 &1 &Y "ea # gl g
A) et Fie B) ®ad T
C) diaer D) &iEd
Answer Key : B Your Response : B (Correct)

Question No. 49

Brinell and Rockwell hardness values are almost identical up to a hardness of-
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A) 60 kg/mm? B) 130 kg/mm?2
C) 235kg/mm? D) 300 kg/mm?
Beter 3R AFde FORAT AT, __ & FORAT & T GA @
A) 60 faram/fae? B) 130 feram/faan?
C) 235 fran/fAA? D) 300 faram/fa#r?
Answer Key : D Your Response : B (Wrong)

Question No. 50

Which of the following is a mechanism for mechanized movements of the carriage along
longitudinal axis?

A) Cross-slide B) Compound rest

C) Apron D) Saddle

3Jeed a7 (longitudinal axis) ¥ WY IS & Il el & AT Am=faf@d & & =l @

frar-fafer &2
A) HE TAES B) HU3s T
C) Uy D) dsd
Answer Key : C Your Response : A (Wrong)

Question No. 51
One ton refrigeration machine implies that the machine-

A) Has a gross weight of 1 ton B) Consumes one ton of refrigerant in 24
hours

C) Has the capacity to convert one ton of D) Is capable of extracting heat that would
water into ice melt one ton of ice at @ C into water at @ C
in a period of 24 hours

T o Ihonex A7 &1 3 § 5 el |

A) & T Tofel 1 e & B) 24 €¢ H UHh ol IMholc &I TId Il &

C) & UH Tl Ulell &l 9% H SGoldd &l &AdT § D) 3deil F5AT s ey 7 gefe g, odeir
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24 §¢ & 3afy # 0° C W HAlgg 9% &t
Taaex 0° C d9 dlel 96l & dgoled &
foT e gefr

Answer Key : D Your Response : D (Correct)

Question No. 52

The bending moment diagram for a simply supported beam with a load at the mid span is a-

A) Parabola B) Hyberbola
C) Rectangle D) Triangle
A VT 7 AR gl U W FART i & AT e 3mget sma gl 81
A) WRIAIHR B) 3ifawacrarsr
C) 3IdrR D) [k
Answer Key : D Your Response : A (Wrong)

Question No. 53

Which of the following welding is NOT a fusion welding process?
A) Submerged arc welding B) Plasma arc welding

C) Shielded metal arc welding D) Friction welding

s ¥ i A afeser, vy afesar ufsear aidt &2

A) TIASS 3Th AfesdT B) TATGHT 31T AfesdT
C) eMess Ao 3 afegar D) fheereT afesar
Answer Key : D Your Response : D (Correct)

Question No. 54

An unrestrained rigid body in space possesses degrees of freedom.

A) Three B) Four
C) Five D) Six
ey # o IfERT T Fe & =g e A
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A) e B) =X
C) 4= D) &8
Answer Key : D Your Response : B (Wrong)

Question No. 55

GET IT ON
Google Play

The algebraic sum of the moments of all the vertical forces acting on one side of the point

about the point is known as-
A) Bending moment B) Section modulus

C) Shear force D) Moment of inertia

fig W g & & 3R FRT @i FeaeR qo 3meoit Fr AT QT

A) ehel 3MTEOT B) @l Algerd
C) 39®YUT §of D) SfSca 3Meol
Answer Key : A Your Response : A (Correct)

Question No. 56

Which of these has the highest specific gravity?

A) Brass B) Copper
C) Lead D) Steel
g0t W Predt Tl it RRIE TecT §7
A) ST () B) I (aam)
C) =z (dram D) et (3
Answer Key : C Your Response : A (Wrong)

Question No. 57

FEaTT gl

consists of pressing a metal inside a chamber to force it out by high pressure

through an orifice which is shaped to provide the desired form of the finished part.

A) Hot spinning B) Hot extrusion

C) Hot pickling D) Cold peening
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# Ui F 3o9 e F AY U By § Ao F AT INT w8 & 7 F
3eT ga= Hr gfihar MAT BN 8, 3H B FT TR T A qfSd §T Je F F AT 3

f&ar sar @1
A) gle afdar B) &lc TadgoleT
C) gic Tfalar D) sies Rfder
Answer Key : B Your Response : D (Wrong)

Question No. 58
Which of the following is NOT a surface finishing process?
A) Honing B) Broaching

C) Lapping D) Turning

W AR viw Feafaf@a & @ #la ar 78 82

A) @f B) sfa
C) oifter D) efeter
Answer Key : D Your Response : D (Correct)

Question No. 59

The force applied on a body of mass 100 kg to produce an acceleration of 10 m/s2, is-
A) ON B) 100N

C) 500N D) 1000 N

10 m/s?2 FT OUT 39T FA & o 100 Fam gegaAa o fFdr Rz W oemar Se arer s

1 ffsw)
A) ON B) 100 N
C) 500 N D) 1000 N
Answer Key : D Your Response : D (Correct)

Question No. 60

The major constituent of phosphor bronze is-
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A) Zinc B) Copper

C) Lead D) Aluminium

BRGR HIET HT GHE T g-

A) T B) &M
C) o3 D) vegAfaws
Answer Key : B Your Response : A (Wrong)

Question No. 61

Which of the following statements is FALSE about planers?

GET IT ON
Google Play

A) Work reciprocates horizontally B) Tool remains stationary during cutting

C) Tool reciprocates horizontally D) All of the options

T & AR H FAH & FleT AT HYUT I g7

A) ®REE] aifcet feem & gaAdr § B) &del & eIl ¢l & W@l §
C) geor &ifdst fgem & gAar & D) fwed & & @l
Answer Key : C Your Response : C (Correct)

Question No. 62
If the Mach number of a flow is 3, then the flow is known as-
A) Subsonic B) Supersonic

C) Sonic D) Laminar

I Rl warg i dA% F&ar 3 &, O YaIg A R F T F ST FAar -

A) TEaIIH B) gwR&Afa®
C) dfas D) oIHER (FH{)
Answer Key : B Your Response : B (Correct)

Question No. 63

The dimensions of the Chezy coefficient C in [MLT] notation system are-
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A) L B) MOLOTO

C) L1/2 T-1 D) L'1/4 T2

[MLT] ShcfeT SoTrelr 3 A9 3oniss C v fasr = 82

A) L B) MO LOTO
C) L1271 D) L-1/4 T2
Answer Key : C Your Response : C (Correct)

Question No. 64
Which of the following statements is/are CORRECT in grinding wheel selection?
A) Soft grade for soft material B) Hard grade for hard material

C) Hard grade for soft materials D) All of the options

TERT P R & Fau F RA=faf@a 7 a1 Fla F Fu @dr §2

A) A FFHA & v RAT A3 B) ®oR T & folv #oR AT
C) A T & fow FoRk Is D) fasedl & & sl
Answer Key : C Your Response : C (Correct)

Question No. 65

The critical radius of insulation for spheres is given by-
(where k is the coefficient of thermal conductivity and h is the convective heat transfer

coefficient)

A) k/h B) k/4mh

C) h/2k D) 2k/h

areii(spheres) & AT faegaieeT Hr Hifas Ae$ @1 FFd Hr S g
(STeT k ST Aerhelm Fr IoTH § AR h Fagelr FSHROT JoTH §)

A) kh B) k/4 1t h

C) h/ 2k D) 2k/h
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Answer Key : D Your Response : C (Wrong)

Question No. 66

Product layout is also known as-

A) Process layout B) Line layout

C) Functional layout D) Fixed position layout

Wsee AT F &t g1 ST B

A) 9T 33T B) oSl I33¢

C) FTcH® (HaFeld) 33T D) ffega Fufa (Thees disiers) o3m3e
Answer Key : B Your Response : D (Wrong)

Question No. 67
In a centrifugal pump casing, the flow of water leaving the impeller is-
A) Rectilinear flow B) Centrifugal flow

C) Radial flow D) Free vortex flow

TH FeglIaRS 93T HER0T 7, IR SR DIg aId Ilel FT JdTE &-

A) HIATHRR(Rectilinear) Jarg B) ShealddRe 9dIg
C) 3Ter yarg D) st e garg
Answer Key : D Your Response : C (Wrong)

Question No. 68

The chemical used in generating acetylene is-
A) Carbon B) Charcoal

C) Calcium carbide D) Nitrogen

vfRRte 3creet e # ST e gie &l
A) FreeT B) dRI
C) ¥foerH Feiss D) TggIetet
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Answer Key : C Your Response : D (Wrong)

Question No. 69

If the specific speed of turbine is more than 300, the type of turbine is-
A) Pelton B) Kaplan

C) Francis D) Pelton with nose jets

Ife eXarsaT i RS a1fy 300 ¥ 310 §, O REBT FT THR &

A) Yecs B) FToleT
C) wifad D) ST Sic & AT YelceT
Answer Key : B Your Response : B (Correct)

Question No. 70
A module is expressed in-
A) mm B) mm2

C) mm/number of teeth D) Dimensionless

A9 (FAFY) B # sfa frar Jar g1

A) fae B) a2
C) f&#Y grat fr TwEar D) 3rERfgd(Dimensionless)
Answer Key : A Your Response : C (Wrong)

Question No. 71

Interference exists between the-

GET IT ON
Google Play

A) Low limit of hole and high limit of the B) Low limit of hole and low limit of the shaft

shaft

C) High limit of hole and low limit of the shaft D) High limit of hole and high limit of the shaft

ST & &g & Algg g &

A) &g fr @ea O 3R are i 3zg d@@r B) g fr @ @ 3R amve fr [eT der

Page - 115


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

C) &g & 3=a &drar 3R arre & oo @ar D) g &1 3z @ 3R amwe i 3=a @

Answer Key : C Your Response : A (Wrong)

Question No. 72

Which of the following arc welding methods is used for thin sheets as well as in difficult-to-

access positions?
A) Short arc welding B) Long arc welding

C) Spray arc welding D) Pulsed arc welding

FT & & e 3H AfeSa &1 3T Teelr Qe & ArY-EY ARFA-F-95T a wforew F A

ot 3 ST 872

A) ere 3 afesar B) oaT 31 afeger

C) T 3% afesdr D) Tdfed 3 afesar (Pulsed arc welding)
Answer Key : A Your Response : A (Correct)

Question No. 73

A body is thrown vertically upwards with an initial velocity 15 m/s. How much time would the

body take to get back to the point from where it was thrown?(g = 10 m/s2)
A) 1 second B) 2 seconds

C) 3seconds D) 4 seconds

s & IRAF 97 15 HeWFs & T daad T ¥ FW A 3R b ST g1 s A 390 fog
W A" e H Fraer THT S99, SiEr F 39 $er I/ 9r? (g = 10 m/s?)

A) 1 ¥z B) 2 ¥%s
C) 3 ¥&3 D) 4 @%hs
Answer Key : C Your Response : B (Wrong)

Question No. 74

The size of the grinding wheel is represented by-

A) Wheel's diameter x thickness x hole size B) Hole size x wheel's circumference x
thickness
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C) Thickness x Hole size x wheel's radius D) Hole size x thickness

"¥oT 9 (grinding wheel) T 3R fFaS g@RT AT AT §?
A) TH FT I x ARCE x &g F 3HR B) &g & 3M&R x T &I IR x AR
C) AR x g & 3M$R x g &1 BF=ar D) &g & 3$R x A

Answer Key : A Your Response : A (Correct)

Question No. 75

In automobiles, Hooks joint is used between-

A) Flywheel and clutch B) Clutch and gearbox

C) Gear box and differential D) Differential and wheels

diAaTSe #, g Slige &1 3w & &g # fRar S g

A) TS T 3R Ford B) o 3R fReiew

C) R siew 3R BwiRe D) fEwifte 3R e
Answer Key : C Your Response : C (Correct)

Question No. 76
Which of the following is an example of a sliding pair?
A) Square bar in a square hole B) Wheel rolling on a flat surface

C) A shaft with collars in a circular hole D) A solid cylindrical bar inside a hollow shaft

frfaf@d & @ i @1 TS g7 F1 v e 87

A) T TR Bg 7 TR o3 B) HUC HAE W Gehel g3 Ifgar
C) T JeaihR &g # ek & AU T AFC D) TH TGl AT & 3HeT Th B Sl
B
Answer Key : A Your Response : A (Correct)

Question No. 77

Which of the following is NOT a case hardening process?
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A) Normalizing B) Annealing

C) Cyaniding D) Both Normalizing and Annealing

fafaf@a F & =l Fu g Wdw w7 t 872

INEGIECIESES B) usiiforar
C) WrsaAgisaT D) sratemsfor 3 Wi gt
Answer Key : D Your Response : D (Correct)

Question No. 78

Clearence ratio should be increased for bearings of diameter less than-
A) 0.1m B) 0.01m

C) Tm D) 10m

¥ FH 9 & I F T F QAT 9¢[@T 6T AR

A) 0.1 m B) 0.01 m
C) 1m D) 10 m
Answer Key : A Your Response : B (Wrong)

Question No. 79

In a single point turning operation of steel with a cemented carbide tool, Taylor's tool life
exponent is 0.25. If the cutting speed is halved, then the tool life will increase by-

A) Two times B) Fourtimes

C) Eight times D) Sixteen times

AT Ford F1eigs 3UROT & WY Tl & farer dige fofor e #, T o Ash TFwdleic
0.25 &1 I FdeT aIfy T 37T FT AT FATAT &, A SYFOT T NGl Fhclell §¢ SATTIM?

A) e e B) =R =T
C) 35 =T D) &relg T
Answer Key : D Your Response : D (Correct)

Question No. 80
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For an absolutely white or specular body-

(where a = absorptivity, p = reflectivity, T = transmissivity)

A) a=1,p=0andt=0 B) p=1anda=1=0
C) t=Tanda=p=0 D) a+t=Tandp=0
Reper ahe a1 WRGeR i & fae-

(ST8T a = 3@RNYSdI(absorptivity), p = Wradedi(reflectivity), T = FeRUfIAT(transmissivity)

A a=1p=03R1=0 B) p=13Ra=1t=0
C) t=13Ra=p=0 D) a+t=13Rp=0
Answer Key : B Your Response : B (Correct)

Question No. 81

LVDT has-
A) One primary coil and two secondary coils  B) Two primary coils and one secondary coil

C) One primary coil and one secondary coil D) Two primary coils and two secondary coils

LVDT & 8 8l
A) T grafEe FEel 3R & afadias sl B) & wrafde e 3R U gfadasd e
C) W yrfde Fee AR Uk gfadas s D) & wrfEe due AR & afadiEs e

Answer Key : A Your Response : A (Correct)

Question No. 82

What is the chemical formula of Acetylene?

A) CoHg B) CoHe
C) CoHsy D) CaHs
R F1 TERRAE JF FiT @ 2

A) CyHy B) CoHg
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C) CoHy D) CaHs

Answer Key : C Your Response : A (Wrong)

Question No. 83

The theory of failure applicable to brittle material is-
A) Maximum principal stress theory B) Maximum shear stress theory

C) Maximum strain energy theory D) Maximum shear strain energy theory

ST 9eTd (brittle material) W W] g aTem fawerar fAgiA (theory of failure) i T 872
A) IftwaA wE wE Rgid (Maximum B) 3fdaw Rw w©@ f@@id  (Maximum

principal stress theory) shear stress theory)
C) 3MWrdd T Foif @A (Maximum D) 3if&%ad RRR & Far RB@gid (Maximum
strain energy theory) shear strain energy theory)
Answer Key : A Your Response : C (Wrong)

Question No. 84

Short circuit transfer in MIG welding is also known as-

A) Spray transfer B) Dip transfer
C) Globular transfer D) Free flight transfer
MIG afeser & e afde gawt #t §ft gT ST B
A) T TTERT B) 37 graw
C) TG D) W ST T
Answer Key : B Your Response : A (Wrong)

Question No. 85

Which of the following alloys contain(s) nickel?
A) Inconel B) Invar

C) German silver D) All of the options
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fafaf@a F & frw P arg & e gar 82

A) Sehldel B) S=dR
C) s ek D) 3R ¥ ¥l fasheq
Answer Key : D Your Response : C (Wrong)

Question No. 86

A current meter is used for the measurement of-
A) Pressure B) Velocity

C) Viscosity D) Electrical charge on fluids

Fe HIeT FT 30T FE F AT F v Fr sar 82

A) gaTE B)
C) IeTdr D) Rel W faegd 3masr
Answer Key : B Your Response : A (Wrong)

Question No. 87

Which of the following is the major constituent of corundum?
A) Carbon B) Diamond

C) Sio, D) Al,03

PRUSH H &Y 3Hadq fAafaf@a F & = g2

A) T B) grr
C) SiOy D) Al,O3
Answer Key : D Your Response : A (Wrong)

Question No. 88
In which of the following processes is flux used in the form of granules?
A) Submerged arc welding B) Gas arc welding

C) DC arc welding D) Argon arc welding
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$oT ¥ Fe ufthar & voew 7 e & w9 I 39T R S 82

A) HeHss 3TH dfesdr B) 3@ 3ms afesar
C) DC 3 afesar D) 3T 3 afesar
Answer Key : A Your Response : A (Correct)

Question No. 89

A spherical pair possesses degree of freedom.
A) 1 B) 2
C) 3 D) 4
U MANT A F 9 T f3af &l 21
A) 1 B) 2
C) 3 D) 4
Answer Key : C Your Response : A (Wrong)

Question No. 90
Which of the following is/are the common sources of light used in interferometer?
A) Krypton 86 B) Mercury 198

C) Helium D) All of the options

STPNAET F GIFT T F AR Wi Feafaf@a F § i ar g2

A) fecesT 86 B) &Rl 198
C) giferas D) faswedt & & &l
Answer Key : D Your Response : C (Wrong)

Question No. 91

Which of the following laws states that "When a system is at zero absolute temperature, the
entropy of system is zero"?

A) Zeroth law of thermodynamics B) First law of thermodynamics

C) Second law of thermodynamics D) Third law of thermodynamics
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o ¥ fre RGid F ER, 59 F$ Jomer I AR argAer WO g, ar womelr #r

T e Al 82

A) drgerfaehr @ egar T B) dargerfaehr &1 gH faa#H

C) argerfashr &1 gfada fHaA D) drgerfaiehl &1 g fage
Answer Key : D Your Response : D (Correct)

Question No. 92
For the same compression ratio, the efficiency of a dual combustion cycle is-

A) Less than Diesel cycle efficiency B) Less than Diesel cycle and greater than
Otto cycle efficiency

C) Less than Otto cycle and greater than D) Greater than Otto cycle efficiency
Diesel cycle efficiency

AT WS 3] & fAw, AR q5aT T Hr G &

A) SISt Ish G&TdT ¥ HH B) 857l I ¥ A AR el T% gEar &
KIBED
C) 3Mer wh & A AR ol =k &l & D) 3fer =k GaTal I Jofell & 38 a3
I
Answer Key : C Your Response : C (Correct)

Question No. 93

In arc welding, the temperature of heat produced by the electric arc is of the order of-
A) 3000° C to 4000° C B) 4000° C to 5000° C

C) 5000° C to 6000° C D) 6000° C to 7000° C

I TS F TG IS @R 3cewT FAT FT ATGAT 9 & fhe FH F giar 82

A) 3000° C & 4000° C B) 4000° C & 5000° C
C) 5000° C & 6000° C D) 6000° C & 7000° C
Answer Key : D Your Response : B (Wrong)
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Question No. 94

Which of the following codings of a grinding wheel is correct?
A) WAG60K7V B) KWA60V7

C) V760KWA D) 607 KV WA

farafaf@a #IfSer F & ador Tw(grinding wheel) $r FieT @ FIfEr TEr 872

A) WA GB0K?7V B) K WA 60V 7
C) V760K WA D) 60 7 KV WA
Answer Key : A Your Response : B (Wrong)

Question No. 95

The temperature of a radiating surface changes from 400 K to 1200 K. The ratio of total
emissive powers at the higher and lower temperatures would be-

A) 3 B) 9

Cc) 27 D) 81

v fAfAROT Fag 1 @ 400 K & 96T 1200 K & S7rar §1 359 AR et a9 T Fd ScHoE

AfFTAT T AT AT IM?
A) 3 B) 9
C) 27 D) 81
Answer Key : D Your Response : D (Correct)

Question No. 96

Tuyeres are used to-

A) Feed the charge in the cupola B) Allow the air in the combustion zone of
cupola

C) Collect the molten metal D) Throw the exhaust from the cupola

g frafav gy fre S 82

A) FUeT H Tl BIS FHLAT B) ulel & Gg«T &1F H &aT &l 3T call
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C)ﬁﬂﬂTg&TﬁﬂgWW D) Huterm ¥ A thaper

Answer Key : B Your Response : D (Wrong)

Question No. 97

Which of the following joints uses filler material?
A) Autogenous joints B) Homogeneous joints

C) Heterogeneous joints D) Both Homogeneous joints and
heterogeneous joints

T & ¥ o g 7 e GrEEalt 1 39T giar 872

A) 3efadE s B) A3 S8
C) gfS=smg s D) g 3d s 3R g3 Sis aer
Answer Key : D Your Response : B (Wrong)

Question No. 98
If the effective length of a column is twice the actual length, then the column is

A) Fixed at one end and free at the otherend B) Fixed at one end and hinged at the other

end
C) Hinged at both the ends D) Fixed at both the ends
Ife ey Fierar A FoI oiar$ aeafas oes § AW 8, ar o gl
A) TH BR W s IR gEy B W B B) Th B8R W s 3R qal o @ fear
(77F) g3
C) @it BR W fear g3m D) &l BR W fhaes
Answer Key : A Your Response : A (Correct)

Question No. 99

Which of the following states that a system of external forces acting on a body in motion are
in dynamic equilibrium with the inertia force of the body?

A) D'Alembert's principle B) Principle of work and energy

C) Impulse momentum principle D) All of the options
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sH § FiT 91 R9A I Taar § F B i Rs(body) W FRRA gy T«
s & S5 97 & WY s FEATEEdT 7 gier 87

A) 3 TaFsE @ f&gid (principle) B) & 3R FaT & RAgid
C) 39T Taa1 f&gid (Impulse momentum) D) Tasedl & & @sfr

Answer Key : A Your Response : A (Correct)

Question No. 100

Which of the following is/are the characteristics of Elastomers?
A) It has non crystalline structure B) It does not conduct electricity

C) It has low softening temperature D) All of the options

AR $T VAT Pefaf@a & @ @i o 72

A) 3EH IR Frecam ET=T gidr & B) Ig ToSTell &7 ATl =Tl Tl &
C) =u# fae= Arrefer daeT gidar & D) soH & &Y
Answer Key : D Your Response : B (Wrong)

Question No. 101

Hardness of Martensite is about-

A) RC65 B) RC 48
C) RC57 D) RC80
ATEHSE T FORAT SIS Il &
A) RC 65 B) RC 48
C) RC 57 D) RC 80
Answer Key : A Your Response : A (Correct)

Question No. 102

Which of the following represents the isentropic process?

GET IT ON
Google Play

FT AP,
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A) Irreversible Adiabatic process B) Reversible Adiabatic process

C) Reversible Isothermal process D) Irreversible Isothermal process

Afaf@a # ¥ Flaar IA<NF wiFar arifar §2

A) tiamfes 3R 3mRade gfwar B) ufsamifes 3k ufaadt afsear
C) gadmy iR ufaadt gfsrar D) @AM 3R 3aRadea gfkar
Answer Key : B Your Response : B (Correct)

Question No. 103

The horizontal to vertical side slope in case of Cipoletti weir is-
A) 1:1 B) 1:3

C) 1:2 D) 1:4

RAAE 3T & AFS F AT ¥ FR 98T vaurar Brasr 82

A 1:1 B) 1:3
C)1:2 D) 1:4
Answer Key : D Your Response : C (Wrong)

Question No. 104

The horizontal component of force on a curved surface is equal to the-

A) Weight of liquid vertically above the B) Weight of liquid retained by the curved

curved surface surface

C) Product of pressure at its centroid and D) Force on a projection of the curved surface

area into a vertical plane
T% YAEER Hdg W I F Afas geF et & aew 8-
A) Fcs Fdg ¥ IW 3EATER (Afcwel) T & B) Fcs HAE AN SR @ AT Rl Hl
Rl FT Tl gote
C) 8% shegsh 3R &1 W &aId &I UEHd D) Uh FEALR Tolel (FHAA) H Hes TAE &
Y&quT 9T el
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Answer Key : D Your Response : C (Wrong)

Question No. 105

The ratio of inertia force to viscous force is called-

A) Prandtl number B) Grashof number
C) Biot number D) Reynolds number
e a8 AR I I F AT T STl ¢l
A) Yeedd HE&AT B) IRITG TEAT
C) src §&am D) Yslesd &
Answer Key : D Your Response : D (Correct)

Question No. 106

The idler pulley is used for-

A) Maintaining belt tension B) Changing direction of rotation

C) Stopping motion frequently D) Running during idling periods only

3MSser’ T (idler pulley) F 39T _ & fow fFar arar &1

A) SoT &AA FATT IG B) e (TFH) HT G2 Seoled

C) IR &R aIfd & Ashed D) %ad ST 3afr & e e
Answer Key : A Your Response : B (Wrong)

Question No. 107

When a thin cylindrical vessel is subjected to uniform pressure acting inside of it, the hoop

stress is-
A) Half of the longitudinal stress B) Equal to the longitudinal stress
C) Twice the longitudinal stress D) Thrice the longitudinal stress

Fd TF Gl JAHR GE, IHE IHX FRA THEAE S F HT @ §, a g7 K (hoop
stress) 8 gl

A) 3eEd yideel (longitudinal stress) @ B) 3Ced Uidee & sRIaT
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e
C) 3eIeed gfdde &1 gepar D) 3teed ufdeer & foaager
Answer Key : C Your Response : A (Wrong)

Question No. 108
Trepanning operation is used for-
A) Bevelling the edges B) Finishing the ends of the job

C) Cutting grooves D) Producing large holes

qfRer 3TN HT 3gAT F fov fFar srar 2

A) frart &r Safeier B) Siie & RRT i frfafer
C) IeH Freat D) &3 &g I
Answer Key : D Your Response : A (Wrong)

Question No. 109
Which of the following is true in case of Impulse turbine?
A) Always operated submerged B) Makes use of a draft tube

C) Is most suited for low head installations D) Converts pressure head into velocity head
throughout the vanes

AT EBA & AAS W S99 & TT T 872

A) BHIT STTHI gl Halfeld gl & B) Yard sToll &l 39T T &
C) o §3 TUY & T Ha¥r 39l & D) W 3 & g MY & Jor ¥ 7 gRafda
T §
Answer Key : D Your Response : D (Correct)

Question No. 110

Which of the following G-codes is used for imperial units?
A) G20 B) G21

C) GO04 D) G28
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sFARTS AFST & AT 597 @ FieT A1 G-FIs 39T AT F1T 8?2

A) G20 B) G21
C) G04 D) G28
Answer Key : A Your Response : A (Correct)

Question No. 111

Investment casting uses a pattern made up of-
A) Wood B) Metal

C) Wax D) Plastic

SAATEHT FIEI FAY a0 T Yot Fr I9ANT T § -

A) g3 B) #Hcdl
C) d&g D) carf¥cs
Answer Key : C Your Response : A (Wrong)

Question No. 112
A perfect frame has N joints. The number of members should NOT be less than-

C) 2N-3 D) 2N-5

T Whae HA F N s §1 AT & ge&ar ¥ HH AT ger Iifeu]

A) 2N - 1 B) 2N - 2
C) 2N -3 D) 2N -5
Answer Key : C Your Response : B (Wrong)

Question No. 113

Which of the following is an example of Thermosetting plastics?
A) Polystyrene B) Nylon

C) Urea formaldehyde D) Vinyl plastics
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JHIARET cofes FT T 3eEr AR F & @i ar &2

A) difoeesa B) aTsdlla
C) IRAT wrATesEss D) fyarsar careead
Answer Key : C Your Response : D (Wrong)

Question No. 114

Davis steering gear consists of -

A) Sliding pairs B) Turning pairs
C) Rolling pairs D) Higher pairs
sReERT R & 3 &
A) FISfEer 7 (pairs) B) efefar goar
C) fer gow D) 8RR FIHA
Answer Key : A Your Response : B (Wrong)

Question No. 115
The velocity ratio of a third system of pulleys with four pulleys is-
A) 8 B) 11

C) 15 D) 16

T R yomel ¥ Tgd RREr somelr & 3o g R g §2

A) 8 B) 11
C) 15 D) 16
Answer Key : C Your Response : A (Wrong)

Question No. 116

GET IT ON
Google Play

The process of fixing different links of a kinematic chain one at a time to produce distinct

mechanisms is called-
A) Kinematic inversion B) Kinematic coupling

C) Kinematic structuring D) Kinematic acceleration
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s fafdse a7 &1 AT & F QT, 16 T99 F F WF FEAAeH AT & R i #r

O1F T T UfHAT T AT Fgl AT 62
A) FAARE Segore B) #IgaAAfes gaaa
C) FEaAfeas TgFaiar D) FEaAAfeH caxor
Answer Key : A Your Response : A (Correct)

Question No. 117

The hydraulic gradient line is-

A) Always below the total energy line B) Always parallel to the bottom

C) Same as central line of action D) Always above the total energy line

gsgifoe AfEde Yar -

A) BT Fel Fofl [T & & & B) &R A & FAWIKR §

C) %heald YGT & AW g D) §HAT Fel Foll TW@N & FW &
Answer Key : A Your Response : A (Correct)

Question No. 118

Which of the following types of jig is used to drill a series of equidistant holes on the circular
surface of a workpiece?

A) Index jig B) Plate type jig

C) Open type jig D) Pot typejig

ffaf@a # @ e R & oRT & 39T a&de i geaeR Jag W FAE Jeare dar f
Aol a1 (Bfa) &= & v frar smar 2

A) z3Fa ST B) Telc Ty faer
C) 3usT ergy 51 D) dfc By ST
Answer Key : A Your Response : A (Correct)

Question No. 119

A beam made up of two or more different materials assumed to be rigidly connected together
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is known as-
A) Simply supported beam B) Flitched beam
C) Cantilever beam D) Fixed beam

Q& A & Iftw RffeT Al & s gan O, St vE W FIE @ S GIT A I g,

AT Fgl 1T §?
A) TFoel @diés i B) Welices 1A (Flitched beam)
C) F=drelar &1 D) fheres die

Answer Key : B Your Response : B (Correct)

Question No. 120
What is the main objective of Parkerizing?
A) To increase the toughness B) To protect a steel surface from corrosion

C) To give a glossy look D) To improve the ductility

IBfT (Parkerizing) FT &Y 30T AT 8?2

A) &MU Je & faT] B) ¥l &I Hdg HI HETRUT ¥ I & foiw|
C) TNl o ool & faw| D) defetelierdr (ductility) # FUR &=t & foTl
Answer Key : B Your Response : C (Wrong)
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